Polynomials - Simplify 8 monomials and fractions with 2 variables:

Simplifying monomials and fractions with two variables:

1 2 3 1 4
1) XV + 5% + %2 + 125x3v8 + V2 4+ v2 — X33 — 20¢2
)2 y 3 - y 7y y y .

1 1 4 1
2) 2m*n® - =m+m?n® + =m- 5§n2 + m+gn2 +§m2n3

1 3 3 .1 3 4
3) 2= +2+-xy° -1 -1=x3+3=x° -1--X°
) 2 P 57 5
1
4) 1208 - 1 v1tas -3l v ap?aoa? 4 1tad -1
5 2 4 8 4 7

2 4
5) 11 5m’n® + =m?n? + —m?n> 23 + 13m 202 + 150203 + 22
3 5 7 8 5 5 2

5 1
6) 12022 + 7 w12 s 1t - 22 s 2 - 2 s atuy
3 3 7 2 5 7 5 3
1,
7) 1 y +1- xy+2 xy —1 xy 3xy +13xy +2 xy —12x
1 2
8) 1teve1ive tvo ot st s v a2y - 20
7 3 3 8 3 6 3

1
9) 3= ab3—12 a’b?

2
~33 412+ %0133 b
5 6 3 4
4 1 1 1.3 1 1
10) 2x° + 1=xy® + 4=x% + 2=x%y + 2= xy + =X’y + 2= x> + 6=xy°
) 57 "2 6 ‘57 g Y% 2

1, 1, 1, 4, 2 4
1 + 3y + 73 +1 +1=x%+ x+1x +1=x°
)8y8y y xy 5 s 8y 3

1 5 5 3 5 1
12) =xy® - 32y +—x%y? - Sxy® —2=yi + 2=
)4xy 6y 3 y 5xy 8y 3xy
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13) éys +8x%y2 +3y3 + 4§X2y2 _ 3§X3y2 33y + 1%X2y2 + 1éy3
14) %x +6x%y° + %xy3 + 1%y +2x%y + x + %y - 4%x3y

15) lgu + %uv2 + lguv2 + 4%u - 2%u2v3 + Zéuv2 - lguzv3 + lgu
16) lgy2 + 1%x2 + lgy3 —5y? + %xz + lgy3 + 1%y2 +%x

23_13 123 33

1 1 5
17) =m?’n® - =n? + 3212 + 2P
8 2 8 6

1 1 5 1 1
18) 1=mn®+1=m’n®+ 13m0 4 2mPn® + 2mPn? + 5m?n® — =mn + 1=m>n?
2 7 5 6 2 3

1
19) 2uv + 12028 + 20ty - 2038 + 13+ 21082 + 3208y - 318
3 2 4 3 6 3

2 3 2 1, 3 1,
20) =x3y° —x+ += x +3=x%y + 4= x + 4=x3
)3 y - xy xy y+3-Xy+47 > y®

1 3 .54 .1, 3 5 1 2 2 , 4
21) 1=xy° +3=Xy+ 1=X°y+4—xy° = 3=X+—X+—Xxy° +
) 7xy 6 Y 5 Y 4xy 2 3 3xy X

5
22)113+23+11 Sato1laz 4202432 431y
3 3 76 4~ 8 8 3

1 3 2 2 5 2 1 3 1 2 2 2 1 2.,3
23) 4—Xy—=3Xy" + 1 X" =7 XYy-3_Xy +4_X"+_Xy+1=X
) Y 3 XY =3oxy 5 Xy +1oxy

24) 3—=X"+— +7-2—Xxy"+—X"+3—-3=X"+1—
) 7 8Xy 6xy 3 4 6 2xy
1
25) 2a——a’b+ 110+ 2%+ 22a% + 11a+ 11a% + 2ab
6 2 7 7 2 2
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1 5,53 1,4 1, 5 5,5 1, 7
26) 3—X+2—XY° +—XY —2—XVY+1—X+1=XVY +—XV+3—X
) 2 6 y 6 y 8 y 8 7 y 4 y 8
2 2 1
27) = — P + ZmPn? + 42 — 2mn? + 1 + 22mPn? + =’
3 3 2 5 8 4
1 2 3 3 2 2.,3 1 3 3 3 1 2.,3 1 3 2 2
28) 4=y —1—-y  +3=XVY° +3=y° - 2—xy° +—xYy°  —1=xy° +1—Xx
) 2Y Y XY 3,y g T XY Xy 3

4 5 3 3 1 3
29) —x? - 23y + 1=x%y® = 3x%2 - 2=xy? + 2532 - 2=x - 1=x°
)7 y - y 7><y p y 5 - y

5 4 1 3 5 4
30) =X°yP +2+ 1= +4=y* + =x%y? + 2%y + 3=x%y° - 3—y°
) XY S TAS Y XY y+3. Xy =32y
1 1 1 2 1 1
31) 1=x3+ 35X+ =x3 + 32X - = +5+ 3%y - 2¢°
R R CU g’ 7

2 2
32) 2uv? - 2§uv3 NV T YRV 1§uv3 483ty
7 3 2 4 3 5

5 6 3 3 2 1 1 6
33) =x%y - 3-xy+3-xy +2=x - =Xy + =xy + 1% + 32y
) XY T3 Iy 2 y*+gy+ig 2y

6 3
2 7 2 1 4 5 5
34) =Xy —1—+xy - 1oy + = + =Xy + Xy - 22y
)3 y 3 Xy 3y 215 y 5 y=-2-y

333 422 1 2.,2 5 1 3,,3 2.,2 1 3,,3
35) 2—x +—X +1—x -1—y+1—Xx + X +1—vy+ 8x
) p y c y 5 y 6y c y y 4y y

5
36) mn-— 12m2n2 + 2m2n? — mn? - 22mn + 32mn + 2mn? — 15men?
5 6 6 7 4

3 .6 , .1 5,, 4,
37) 25 -3-oxy? +3= - —xPy - —xy? +
) 2 TP AIG T Y TR

122

4 3
— +—xy2—3§x y

7 7

3 5 1
39) 4gb3 + b+ 1£b -a’- zﬂb3 +>a%pd - 1ga3b b
3 4 4 5 7 3 8
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3 2 4 7 1 2
39) 2333 — 15532 + o332 + 15333 + v2 + =x3 — 15533 + 2
)4 S S ARt AP A A VY
1 3 3,,2 3,,3 1 3,,2 1 3 3 3 7 S 3,,2
40) 1-+ XYy +2Xy +3 XYy +2—y +1—y - 1—+—X
) 5 5 y y 2 y 4y 4y 8 6 y
1
41) 22 1102 1 8a%% — 2 8% + 120 + ~a®h? - 12 + 11b
5 3 8 7 2 3 4
1 2 5
42) 3+ 130+ 42 433 - 2P e v a5t - 13188
6 4 5 4 7 7 5
1 5 2
43) 2a- 17 a%% + 12a%0% + Sa - 2a2b® + 2a2b° — Za%0® + 4—a%b?
8 2 2 6 3 3
2 2
44) —a’b-2a’b® + 3tazh-1tap®+ 4ga3b2 +Zan - 1282 - 12a%°
3 2 4 7 7 6 7
3, 3 7 3 3 1, 2 ,
45) 2—x°y  +4—xy+1— x+3 X2y — 1= x +=x%y -3 1=x3
) 2 y° Sy tlg XY y’ Y3y -1 y’
4 4 1 1 1
46) 2y = 2=y + 1y + 1oxy + 1= y? + 2%y + Txy® — 1= y?
) 2X7y Y Iy Ry Ly y +iy =10y
4 . 5
47) —X" ==y +3-xy+1_
) y 3y +1oy
S 3 7 2 4 3 1 3 1 2 2 2 1 3 3
48) 3—xy" -1 X" +6-Xy+1—xy -1-Xx"+1-X"+1-xy —4xX
) 6Xy 8 5 y 2xy 6 3 2xy y
1 1s,1 2.5, 42034133 31,0
49) 1—x+1—Xx"+—Xx—-1-Xx"+4—xy +1-X"—3—-xy —2X
) 7 2 6 3 3xy 5 3xy
2

1 1 1 1 1
50) 1=-u+ 12028 + Ty stz - s s L s e - 22y
3 7 4 4 7 3 5

3,,3 2,2 34,3

3 5 1 6 2 4
51) —y3 - 1=x%y° +2 NG +1x3YS + 13y + 2532 +4—yB
)7y ) y p y -y 5 y - y c y 5y
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2 7 4
52) 2 men® + Zn+ min® - 2n + 4mP + LPnd - 2P - 2
4 3 8 5

53) 2x3y° - 32,3 +5X0 4+ 322 +32 + 25,3 - 32,2
6 8 8 6 7

7 1 3 1 3 1 1 1
54) —x%y® — 2=y + 1oxy - 1=x%y? + =xPy + 1=x%y? + 1-x°y + 4=
) gXY T2y Iy m IoX YT XY IOXY H 1oXy 4y
7 1 2
55) 4—m>n? - 2mn + 22 = 13mPn? - 3men + 3mn - 34men + 1-2mn?
8 7 5 5 3
1 1
56) 1208 4 220+ 1308 - 7Py + 1302 + S0 + 1508 - T2
3 7 4 5 4 2 2

5 1, 4, .3 .3
57) Xy +2y+1oxy -2y — X2y + Xy + 2>y - 1>
) Xy Yy 7xy y > Yy 5 y 8y 5xy

58) 1180 - a%h® + 25 - La%h® + 2a%h + 10 + 12a%h + 45a%h°
2 3 3 7 8 4 4

1
59) 4m?n® + 11423 32t s om e P o 132 4 2
6 8 3 4 2

1 1 4 2 1 1 1
60) X2V2 + 3=x2V3 4+ =xv + —x2V3 + 15x3V2 + =x2v8 — 228 + 4= x/8
) X7y 3 y ny . y 3 y 3 y 4y 2><y

1 3,,3 5 2 1 3 3 2 2 3,3 1 3,,3 5 2 2 3
61) 4—XYy + 2 Xy + 7T XY+ Xy - XY +4—XYy —_-Xxy*+1_-X
) p y 6><y 5 y 7><y 3 y p y 7><y 3 y

1 2 1 3,2 2 3 1 3,,2 4 2 3 3,,2 4
62) 4_Xy° +_Xy" +2xy" —3—X+1-XYy +4—-xy" —3—Xy" ——X
) Y XY 2y 8 &Y ] Y

532 533 532 533 2\,2 132 1 3,,3 2.,2
63) 3—x +4—X +2—X +—X + 2X +—X —-2—X + 2X
) &<y gy g Y T XY yoExY =Xy y

1 2
64) a1 -3y 43T 4 22 4 Sy 7T £ 352
8 5 3 8 2
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1 4 4 3
65) st ot a1y e eatne o2 3,
2 2 7 7 3 5 8
2 1
66) 22mn? - 33m2n® + 23 men - 2mn? — 222 + Zmn? + mPn + —=m?n
3 8 5 6 7 7
1 1
67) 312302 — 22%0° + Sab® + 3 a?b+ 31 + Ta%? + 22 ab® - 714
8 2 8 8 4 5 8
7 1 1 1 1
68) 2—x*+1-x>+1-x* —1=-y° - 2§x2y +1-y® - 323 + 1552
8 2 2 6 6 4 8 7
2 4 1 5 6 1 1
69) 1—x%y* — xy + 1—x%y? — 3=x%y® + 4—xy + —xy - 3-x%y° + =x°y?
)7yxy5y XY HADYH XY =3 YT+ Xy
4 1
70) —m?n - 112 + 2m2 + 22020 — Zn® + 62 + 3§m2n +3mn®
5 2 8 2 4
3

1 3:,2 2 3 3 5 3,,2 2 2 1 3,2 1 2
71) 1—x°y° —4x° +4— - 1—X°y  ——X“+—X°y* " —3—X"+
) Y 8xy <Y % <Y > Xy

72) 1°0% + 41 + 20ap% + 42 + 42p% + 824 - 62ab° - a%b°
5 2 8 5 5 4~ 5

5 2.,3 1 2 1 2,,3 3 3,,3 1 2 1 2.,3 3 1
73) 1—x -1—Xy+ 3—X -1—X +4—XyY+—X +1—X +1—
)7y 6y4y Y XY oXY 5y Y
74) 2tevalne sl - 23021t i1l Csnz a1l
6 3 8 4 4 "3 8
1 3 1 7 5 2 1
75) 3y® —2=x+ 4=y + =xy? + 3—-x%y? + 4=x%y? + —xy® — 1=X
) 3y 5 gy T gy <Y T c

1 5 2 5 1 4
76) 2b+1=-ab*+—ab-2=b+5ab® +—ab®-1=-b-2—ab
2 8 3 7 8 7

1 5, 1 1 5, .2 1 2 1 .,
77) A=xy> + =xy+1=xy’ -3y -1+1-y-2=xy+ 4=
) 2xy 2xy 3xy 3y 5y 7xy 8xy
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4 2 5,
78) 4 y +1 xy+—xy —x +35x +1 y +11x y - —x?
6 6 6
2 1
79) 2 mn+ 2l men + Zmn® - 13m0 + 2m® + 42m2n + 4m - S
6 8 3 8 8 4
80) 7y—3=xy’ +1—Xxy° +1—y—1—xy° +2—y— 7xy° + 4—
) Ty =307+ Loxy Loy~ LoxyTH 20y = Ty +Aoxy
81) 3—V+—XV+—X+—-XV+1—-XxXY+3—X+—y—-7=X
) 8y 5 y 3 2 y 7xy 5 3y 4

1 3 1 2 1 7 2
82) 1=x°y? + 1533y + 4=y + —x%y? + 3553y + 2—y — 2X°y + 2=x%y?
) 5 y - y 2y c y 3 y 8y y 3 y

83) 11ap? + 130202 + 42407 - 1103 + 110202 + 2007 + 110207 - 243
2 2 7 8 3 4

3
84) xy+13xy +2 xy 2 xy +8xy+ xy 43y3—1%x2y2
2 4., ., 1, 1 1 3 5,
85) —X+1-_XYy +Xy +4—y —1-_X+—X-_y+—
)3 7 y y 2y 5 4 7y 6y

3 3
86) m+ 2303 it e e 1l 1 12ms ome
5 5 5 5 2 3

1,4 1, 1 3, 3 5 2

87) 1 Xy’ —-5+4—XxY+2—X+1+3=XVy+4— +1—X

) 8 y 2 y 3 5 y 4xy 3
2 3,,3 1 2,,3 1 2 4 2,,3 1 3,,3 2 2

88) 1-Xy =3 XYy +_- +2Xxy* -3-XYy +1-—-Xy +—
) XY Y TSty XY Y TN

13

1 1
89) 1= —88 s an-om2 -+ It 4 2 nPn -7
3 7 8 7 5

3 3 1 6
90) —b3 + 120%0°% + ab® + —b® + 2ah® + 12a%h® + 1§ab3 APET
8 8 4 2 7 2 4 4
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2 1., 1 1. .1 5.3 3,
91) 2—y+4—-XxX"+—xy—-3—-X —-2— 1—x
) JYFATX Xy =30 Yt xy gy
92) 2t _onz e 7t c 1t e 1202+ v - 1302 + 1202
2 2 4 3 4 7
1 1
93) —x y— x y3 +8x%y° — llxzy - lzx3y3 +2X%y + =Xy — lgxe’y3
6 8 4 5
4 1 1
94) 3§y2 g 133 2y% +1-x3 - 1=x2 + 2y?
7 5 5 3 2
1
95) 31m + 1§m3 r1ime o1 dmens - 5m + 12m + 3§m2n3 +=m
3 8 6 7 6 8 5

1 1 3 1 3 1 2
96) =x+=y* +x+1-yP +2-xy? + 1=y* - 35xy° —=xy°
)5 6y 7y 2xy 4y 6xy 7><y

1 1
97) 1gn+3m+6m+— +n+—m—21—31m2n
3 3 8 4 2

1 2
98) u-—uv: + 7§uv AYE ZZuv3 += +5u-2u°
3 7 3 5 3

323 2 4 22 2.,3 52 5
99) 4°%%Y° + V2 +—xy —2=VP + X3P +—y?2 - 3=+ 2
) p y +y 5><y 3y y 7y 5 Xy

3

6 3 2
100) 13w s 1t + Sz e atiey s S 1222 - 2 1t
4 3 7 2 4 3 3 2

3, 6
101)3y+ =X+ — x32121y+1y+12x “11x
77 11 11 5 8

2

2 1 2 1
102) 1= -2n+1=+ 13m20% + 1+ Zmn® +9- 310
7 6 5 7 2

1 1 1 1 1 1
103) 1-utV* - 1= +2=udVi - =P —uA + 1-ud + 2=udve + 5028
3 8 6 2 5 6 11
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8 9 1 7 7 6
104) —x%y® - 1—x%y + X%y - 2=xy? - 1—x%y® + 1—x%y* + 5xy® + 4—x°
)11 y 10 y+ Xy 4><y g y 9 y® + 5xy - y
5 .5, 7 2., .1 5, ) 3
105) 3= -1= x +1— +4 15y +3= +1=y% + 2x
) 3 y? 3 x%y® - 3y 3 7y y

3 5 2 , .24 745 9 , _5
106) ~xy +4—xy> +8xy + 2-xy? + 1oy® + 4—y® + —xy® - 3>
) YA By Y Ly Ay Y T3

5 4 , 4 1 2 5 4
107) —a®*+3ab+—-a®-1-b*-1=+5=——a’+2—p?
11 5 5 2 5 8 5

1 52, .2.,,5 1,51 7 4
108) —xy+1—X"+ X" +3—-Xy+6-XYy +_Xy—-—y+2—
) loxy 8 6Xy 7 Y 2xy 9y 5

1 3 2 1 1 4
109) 1=X°y + 1=xy + 1=xy — 2= + 4=X°y + 4— — 2xy — 2X°
) > y 5xy 3xy > T45 y 5 Xy y

3 1
110) 2Tt -o18 3281 2mne ot —12 - Lo
9 11 7 9 3 8 5

1
111) 1— b 1L %% + 1 ap-ta- 1102 +62ab- 3207 +a
10 37 2 3 5 3

112) 5—x°y+6—+1—-1—Xy" +—Xy+1—-X - 2—X
) 12 y 6 4 3 y 11 y 2 y 5 y

6 1 3 3 9 , 1
113) 2x% = 1=X°y + 1% = 1=x%y — P +—y? + 4—x* + =x°
) 7Y PR A S TIPS

1 1 3 4 4 5 1
114) =x?y° + Sy +y—=xy® = 3=xy® + 1—xy* + 3=xy°> + =
)8 y 2y y 4><y 5><y 5><y 6><y 5y
9 2.,2 1 1 2.,2 1 2 1 2 133

115) 2—Xx2y? + 1=y + 6=Xy? + —y% — 1=xy + y? — =x°y° + 2

)11y 2><y9>/2y 3><yy2y><y

3 S o

116) b? +6— ab2+6ab2——b 2122222+ 11+ 51p2
2 8 3 2
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1 8 3., 9 1, .65 3 1 4
117) =3 +6—x3y + — x 1— —y +3—=y° = XxX’y+9—Xx
) 5 11 y y- 1oy 8y 7y y -

2 2 1 2 4 2.,2 2 2.,2
118) 5=x° +—y + +15x% - 1—x3y? + 11y — 12xy? — 2X
) 3 11y 11><y - 9 y y — 12xy y

1 1 1
119) uv +—uv® + v — 111202 4502 + 6Ly — 1w
2 2 5 5 12 12 5

3 1 5 1 1 1 3 1
120) =xy° = =x°y? +2——x%y? - 3=y’ - Sxy + 2=y - 1=xy + 1=xy°
)4><y Y XY gV Ty Y 1oxy

1 1 3 6 1 5
121) 3=y* +6=Xy* + 1—y* + =xy* + X + y2 + =xy* = 1%
) PRAREPYSARE TS ARy y Xy -l

3 4 1 1 1 3 2
122) ~udv? -3—-udV +1-udv? + 3§u3v3 —1=wv? + 1=03 + —uv? + 1-udV?
4 2 4 2 2 11 3

1 2 1 2 1 2
123) 1-mn?+1=mn+1=m°n® - 2=mn? + 1-——mn + 3m*n® + 12mn = 2’
5 2 3 12 6 5

3., 3 5, 2 1 3 2 7
124) 2—x +3—y’+—y°+1— +3 x +1— 3y°+1—
) 3 y 1Oy 5y 2y y? 9y A o x%y®

5

1 “a- 1Za3b2 - 7a%b
6 3

5
125) 1-La+52a%h? + 35a0? - ~a% + 61a%h? +
10 2 4 12 2
1 1
126) 2x° + 1 x y+—x y——x +51 x2y? + xy® 2§x2y2 —2%x3y

7 2
127) 1— y+4 Xy + y— xy+3xy +6 y —xy+6£y

12 11
4 11 1 1 1 1
128) 11m®n? - 2m?n+3—-mn®-3— - =m’n? +2=m’n® - 1=-m?n- 1-m°
7 12 8 8 2 2
7 7 6 9 1 3 1
129 Y2 +1—xy* +2—x-1—x> 2 +6=x%y? - —xy® - 1=xy?
) 12Xy 9 11 y Xy 2 y 10xy 2xy
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3 4 1 1
130) 2 a2 1 302 e deeps _ Lo Loz v o ta s 1202 - 122
5 4 7 2 2 2 6 5

4 2 5 2.,3 9 2 1 2 1 3 1 2 5 2.,3 2 2
131) 1—x* - 1—XYy  +5—x“+2— +6—X"+2—X"—-1—XxYy —-1—
) 11 9 y 10 6Xy 8 5 9 y 3xy

5 2,3 5 2 5 2,,3 5 2 1 3 3 3 2,,3 1
132) 4= Xy =<y "+ XYy +1 _—y - X +1Xx -Xy -2 —
) 6 Y 6y 6 Y 12y 2 4 Y 12

2 9 2 1 1
133) 2x°y° + =Xy + — =23 + X3P + 153y - 3y - 2=
) 2X7y 5 y 1 y c y 5 y y p

5 1
134) llxzy S350 6ix2y REE N IR SP N 2x%y
4 3 10 7 6 3
3
135) 23men2 42 me ot onPr2 — 1+ S+ 14 5§m3
7 3 10 5 5
3 1 1
136) 6£ 1 nn+Smen+ 6§mn +— +— -5m’n+ 2 m
11 12 7 7 10 11 2
1 1 5 3 7
137) xy? - 1=x%y + 4=x%y* + 6-x°y — —y + 5—x%y® + Bxy? — 2x°
) Xy XY FTAXY Oy — LY+ 5 OXY 4 5y y
1 4 1
138) —uv + 22 s ural -2 e atie s o Ly
5 5 9 7 3 2

3 1 1 2 6
139) 2X%y + —xy + —x°y? + 2X° = 3X°y + 3=X2y + 2— Xy + —
) 2X°y 7><y 3 y y 3 y 1 y 7><y

140) 6 —y+ Xy +—y+1_y +6 X"+ Xy +—_y +5—
) 11y Y 5y 2y 12 9 Y 8y 9y
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1
143) —a’b® + 4102+ 78207 + 1= a2b® — 12a%h? + a2 + 3-ath — 1—-ath?
2 2 11 10 2 10

1 1.,.1
144) X2+ Txy? + X2 + 2xy% + 5—x°y® + 10x%y° + 1-—x* + = xy?
) Xy Xy©+ 5 Xy y Iy

8
145) m N+ o+ 12m® - 1 men+ 1302 + 13 mee - 13 men - o in2
9 11 12 4 5 4 9
1 11 4
146) 1 X2y% + 53y+ X2y? = 4x3y? + 65y+ ZExzy2 - 1;y+ 1§x3y2

1 2 1 2,,3 S 3 2,,2 6 2,,3 1 5 3 4 2
147) 1 X"+ XYy +1-Xy—-2—XY -1 —XYy +-_Xy+—-Xxy  +—-X
) 3 2 Y 6Xy 4 Y 11 Y 2xy 6Xy 7

S 2 2 2 1 2 1 3,,3 4 2 3 2 1 2 6
148) 4—xy" + X"+ —xy"+1_XYy +2—X +_-X" -3 Xy +4—X
) 6Xy 9 12xy 3 Y 9 7 2xy 11 Y

1 4 7 1 1 1 1
149) —uv® + 5—u?v +—u?v + —uv® + 5=uv? + ulv + 5=uvd + 1-udV?
11 7 10 2 4 9 4

3
150) 132202 - 11a%p + Sa?p - 31 b3 s 2202 41302 22203 + 10242
4 2 4 5 7 8 5

3

—a3+5i ab® +31
7 10

151) 7a° + 3lap® + 11a%00 + 21ap3 + 1 a%0® +354°
3 3 4 2 9

152) 4 xy +1;x+7y +215xy +1 xy +5%x+ x3y® +1 xy

153) 1-"a?b® - 2b + 23ath - 19a0% - 21030 + 23a%° + atap + 65
12 2 7 7 4 8 2

1 1 2.,2 5 2 2 3 1 2.,2 1 2.2 1 6 2
154) —y+1_ Xy +—Xy-1_xy" —1-Xy +1_ Xy +11—y—-3_-X
)2y 5 y 5 y 3><y - y 3 y 8y - y

155) 1—x—-1—Xxy“ +4—X 2 X3y +5=x+1—x—-1— -1—Xx
) 4 10 y 4 y 9 y 4 11 10 Xy 10 y
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5 3,,3 2 3 5 3,,2 5 3,,3 1 3,,3 9 3 3
156) 3—x +3— +4—X°y° + —X = 2X°y° + 6—X +—x>-11
) 6 y 7xy 8 y 11 y 6 y 11 o

6

1,1

158) a2+ +125v vl 2tz stz - L2t
4 11 7 2 3 12" 8

7 4 1 2 1
159) 62mn® + ——mPn® + 45 men® + 5L + 62’ + mn — 1mn® — 1=mPn?
7 12 7 11 9 4 9

1 1 2 1 7 2 ., 3
160) 1=x%y2 +5-x2y + 15Xy — —xy® — 2-xy? + 15xy° + =% - 2xy?
) 10Xy +SEXY + 10Xy — 0y — 20007 + 1oxy™ + 0% - 2%y

8 6 1 1 1 7
161) —x2y° — 8x+ —x3y? — 1=x2y% + 1 =X + 2X°y + 1—x + —x3y?
)9 y 7 y 2 y 3 y 11 9 y

1 1 3 1 6 5 2
162) 6=x—-3=x3y? + 2=xX°y + 1=xX3y? + 1—X+ 4=y + x — 1=xy?
) 4 2 y 5 y 5 y 7 6y 3Xy

163) 2—Xy+8xy" + Xy -——y—-3—Xxy+—y+1-Xy+2X
) 12" e 2" Y1) 1OXy 9y 5 Y Y

1 5 2 3.3 3 2 5 5 1,
164) O Xy -1 —_X+1_ X=Xy —1—xy"+6—xy-1—-x-1—-
) 3xy 12 3 Y 10Xy 11Xy 6 7xy

5 3
165) 12m = 2m+ 13m® - 12mn2 + 2m+ 52mPn? - 22mn - Sm?
5 9 7 9 9 3 8
3 1 1 1 1 2
166) 2xy* + xy® +=xy® + 4=xy? - 1=x%y° + 5x%y° + 1=xy? + =xy®
) 2xy" + Xy gy TAY T XY S XY L xy Oy
1 5

5 1 7 11
167) —n*-2=n*+=-n’+—n®*+9-n+1-—-n-2n®+2n?
9 3 11 9 12

1 8 3 7 2 1 7
168) 1=x%y+2y” +—x+6=y* - 1—X°y + =X’y + 1=x + 3—y°
) Y2y g PLAREPYS A A oY
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3
169) 15b° - 32a2h? + Sa2h — 1—-a2b? — 1-a%® + 23202 + 5b? — 2—+-b°
2 3 8 12 3 11
2
170) 6omn® + 2mn? + 25mn® + 6-4-m + mPn? + 6.2 + m - mn?
4 5 7 11 7
S 3 2 3,3 2 3,,2 7 2,,2
171 x +3 x +— +1 x +1-—x3y? + X%y - 15x3y? + 4—x
) —xy° y’ y y? XY XY T Xy AUy
1 3 1 3,,3 2 1 3 3 7 3 1 3,,3 4
172) 3 X" =1 XYy +2_Xy+5- Xy  + X'+ X —2_Xy ——
) 3 2 y 3xy 7xy 9 2 y 9Xy
S 3 1 3 1 3 3 S 3 3 3 3 7 2,,3
173) 4—y" - 1—XxX"+ 1y’ = Xy+2—X"+2y° - 1-X’y+ 2—X
) 7y 3 9y Y 11 Y 4 Y 11 Y
3 1 1 1,
174) = +—u2+—u2+1§u2v L322 4 1y 14+63u
5 3 3 9 6 2 7
8 3,,3 3 2,,3 2 3,,3 2 3 1 3,,3
175) 2y —2—Xy" + =Xy’ -4y-1—XxXy +1-y - 1-xy’ -1
) 2y 1 Y XY T Ay 1oyt loyT m 1y
1 3

3 1 , 10 4, 1
176) —y* +5-—y? +1-— + oy 2oy - =2
) 1 y 10y 11y R TR A Rt

1
177) 3lafian?+aop?- = -1t ab2+1 ab? + b2 — 1243
12 12 '8

1 4 1 1
178) —x°* - 31+ 6§y P19 - 23 15 4 —y-=x°
12 2 7 8

7 27 2
179) 31 +61+11 +16+31 +9v - 17+4£u
2 2 4 7 4 9 12
2 4 1 2 1
180) — + 62m+ 1— - 32m+ 15m2n? + 2m2n? + Zm+ 2=
5 6 10 7 2 3 10

5 1
181) ;qu + 21—10uv2 +10v° - 2§u3v + EUVZ r3Ldveat Ao 1guv2
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3 3 3 3 3 2 3,,3 1 3,,3 3 3 6
182) 1 —xy+2—XxX"+1—Xxy+ X" —2—=Xy°+6—Xy +—XxX"+1—
) 5xy 8 5xy 7 y 2 y 4 11Xy

1 1 1 1
183) 1 e a2menz etz + L 433 12 - e - 1y
5 7 4 7 4 5 2 8

184) 5202 + 50a%0° + 6-ab — 1—-ah? + 25a%°% + 4% + 1--a%? + 11a%°
6 7 12 11 9 4 10 2
1 2 3 3,,2 S 3,,3 3 3 2 1 7 2 3 3,,3

185) 3 XY+ 1 XYy +6 Xy +—Xy——XYy+__Xy+4—XYy+3—-X

) 3 y 7 y 12 y 10Xy 4 y 2xy 10 y 8 y
1

186) 1y 4 6§u3v3 + 1gu2v F32 v+ 308 + 4iu2v2 1Lty 4 Ty

12 8 3 12 9 10 10 3

5 2\,2 3 3,2 11 3,,2 1 3 11 2.,2 9 3 1 2.,2
187) 1—Xxy +1—Xy +6—X°y +—y° +1—XYy +2—y° —xy—-1—X
) 8 y 4 y 12 y 9y 12 y 10y o 10 y

2 1 1 2 4 1 7 1
188) 3=x* 1=y  + =Xy + 1ox* + 6=y’ + =y  + 6—X°y - 1—
) 5 2y 3 Y 7 7y 3y 12 Y 11y

2
189) 31y Sdv-3Lu- 2 + 32 — 1 i+ 1 ey
4 12 3 12 8 2 3

4

1, 7
J— +_
o y

3 , 3
190) 1%y + =y +
) Iy Y 8° 10

1 3
+y-2 ¥ - =xy* - 10
Xy oy Y o eN y

3 3 3 3 2 1 3 2 3 3 2 3
191) 2—x°y -2 +2 +6—X+5—x°+4— + X —-1—X
) XY =29+ 2y 3 1 Y Y

1, ) , 5, .1 1, .5 3,
192) 1=y2 - 2xy% + 2xy? — 2=y? + 1=X+5=y? + 3—x + 4~
) 5y Xy“ + 2xy 6y 9 8y 5 8><y

9
10

5
ab? - 2§ab + 11ab + 4§a2b - —ab?
7 5 9

7 7. 3
193) 3—ab’+1—ab+—a’b+2
8 8 5 12

7 3
194) 1202 + 3L 22 + 62men® - 12%02 + L2 4 omen? - 3P + “nn?
7 12 8 9 10 7
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1 2 5,5 2 1 9
195) 1—xy + 2—Xx°y“ + 3— =x%y? +4—=—x3 +1 X +4 x +1 N
) AT S Yy’ 11 y? 3 Sy y? c y?
1 4 2.,2 7 3,,3 5 1 2.,3 1 3,,3 3 9 2.,3
196) —X+5—xy° +1—Xy° +—=X—-1—X + =Xy’ = 1=X+4—X
) 2 5 y 9 y 7 7 y 2 y 5 11 y

3 2 2.,2 5 3 2 3,,2 2 2 5 2 1 2.,2
197) 1—x° = Xy* +1—=X’y+2—X +1—y+—y+1—X" +—X
) 8 y 9 y 3 y 3y 9y 12 8 y

3.1 5. .1, , 1 4 .3, 1, 9
198) 25 + =xy® +37y2 — Xy - xR + 1%y — Sy + 6
) 2yt gy 3 Yy e

1 2 1 1 1 1 7
199) =x%y+ —x+2=xy+=xy? + 1oyl + Sy + —xPy - =
)6 Y 3 2 y 5Xy 7y 4y 9 Y 5

200) sl—ob3 - 1§ab2 +3102p3 4 221% 4 202 + 610200 - Eb3 + 43a2b
11 5 12 8 3 7 10

201) Zy+ 6ty -2 4
8" 20 7

6
117

X' == —y9

6, 2 6 6 5
77 7

1 1, 8 9 8 9
202) 4=y +1=x%y° -2 1— X —6—Vy°x? -2 1— X — 6—Vy°3x?
) 9y 5 y? -2y - y? 0y y- y? 10y

203) 12 a2 -2ty 13 b+3 b2a+1 © 322~ 13p + 3102 + 1-Cp3a?
13 4 2 13

13 16
14 7 8 .8 2 8 .8 2
204 243—xy-1—-1-xy’ -4=xy-1— - 1—xy* - 4=
) Y I T Y Ay T Ty T

43,7 155 1 2 1,, 1 2
205) —x° X2y? = 9=y?x% = 8-—yx+ -y - 9=y*x* - 8—yx +—
) y? gV 7YXty ogY 7Y

5 13
2 1 1 11 1 11
206) 8 8023 - 12a%0% - 1a%h® + 12 - 12 0% - —a%® + —a® - 1Lalh
7 3 9 8 8 13
13 1 1
207) 102 V- -yt - 7— 2 o410 —y? - 2y o410
15 14 11 11 19 11 11 19
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3 3
208) 11083 - 13032 - 2083 — 9BV — = — 2UBP — 92 -
4 15 16 15

16

10 3, 2 5 .3 35, 13 3, 3 ., 13 .3,
209) 5 X3y’ + oy -1y -8 15y -1 %y -8 — 15
) S Y Y T Y T g T Tl T8 Ty

1 1 2 3.3 S 3 2 3,3 S 3 2
210) 6=xy +—y? - 2y3x3 - 3=yx - 3°-y? - 2y°x® - 3= yx - 3=
) AT A g VX~ 3,y ~2y g VX~ 3,y
4 1 1 1 1
211) 2a’b - —ab® - 2a’b + 14-—a’b* + 1=ab® - 2a’b + 14-—a’b® + 1-ab®
13 17 9 17 9

212) 18wz~ 1202 - BN® — 2—17? + 19im3n2 -2 + 19im3n2
16 7 14 14 1

3 2 11 1 7 11 1 7
213) =x+8—xy° - 10—y°x-3—y> - 4—x-10—y3x-3—y3 -4—x
) 5 11Xy 15y 10y 10 15y 10y 10
1 1 17 2 4 17 2 4
214) =x%y - =xy® -2y - =x® + 2—xy® - 2y - =x® + 2—xy®
)2 y 6Xy 18 Y 5 19)(y 18 y 5 19Xy

S 5 2 33 2, 1 34 4 5 2, 1 54 4 5
215) 4—x° +4—Xy° - 6—X"—-5—X°y° + 2— -6—X " —-5—Xxy’ +2—
) 16 5 y 7 12 y 9Xy 7 12 y 9xy

7 7 7 7 7 7
216) lzx3y - 193x3y3 - —x* + =Xy - X%y - —x® + Py - —x%y°

8 10 19 9 10 19 9 10

10, 2
217) —b+—=ab® - 6-b%® + 1-2b% + 1-0b — 6-b%a® + 1-2b% + 1-0b
13~ 7 6 3 17 6 3 17

4 7
218) 2%+ 7X%y? - —xX* - X + =y - =X - X + 2y
207 "4"7 9 20
5 5
220) 3%m + 10%n +3m- 10§n - l—nm2 +3m- 10§n - —nm?
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2, 4 5 13 15 5. 5 0 413 15
221) 1-=x%y = 1=xy - —X% = 6—-xXy = 3ox’y — X2 = 6—xy - 3—
) 1YY, 167 1677 T 12 167 16"

10 14, 18, 1, 18, 11
222) 97y +6 X" = Xy —xy- 1 XY™ —xy- 1%

7 7
223) 1 o1l Lz 62y 23 - L -6y
5 10 12 6 12

6. 5 .1 1, 1, .1 1, 1,
224) 1—-xy + X%y = 2=xy + 11xy% + =x%y — 22xy + 11-xy? + =X
) 1oy + Xy =20y + 1Loxy” + 20Xy = 200y + L1 owy™ + 0y

16 4 5 5 5 5 1,
225) 2— +2—X 4 X +1 +— —4—x
) 17xy 14 y 3 y xy 7 3 y 3 7

1
226) —a+ 7§a2 48 -8t a2 - 1ga3b3 _ 8% - 8L a2 - 124
8 4 16 3 16

227) 1302 + 18 22p? - 12p%a - 23p% + 1pa? - 12020 - 250° + Lh%a?
7 13 3 47 9 3 47 9

4 2 1 1 1 1 1 1
228) — 3y + 13y —1-x3y? —1—x° - 1=x%y - 1=x%y? —1—x2 - 1=X°
) 9 y 3 y 2 y 16 2 y 2 y 16 2 y

229) Nod v almenz-72 - 4ln? - 63men? - 72 - 402 - 63 men?
13 16 5 8 8 5 8 8

12 7
230) —a’b®-—a- 130208 - 3 ab2+3 L e -
17 12 4 10 4

3 a’b® - :%iab2 + 3ia3b3
0 10

231) 1252 -1y 3y + 7y*x® - 8— yx+1 y + 7y°X 81y2x+ lﬂy2

15 5 8 20
1 1 12 1 1 12 1
232) 11uAV? + =w? - 9— - —w? + 3=uAV - 9— - —uwv? + 3=u?V°
2 10 17 4 10 17 4
16 11 2 2 / 2,,2 3 3,,2 1 3 / 2, ,2 3 3,,2 1 3
233 5 +3— -1 —XxXYy +1—XxXy - 1-xy - 1—XxYy +1—XxXy - 1—
) Xy 20 YT 20 y 20 y 4Xy 20 y 20 y 4Xy
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2

2
234) 12 a2b - 238%D% + 90° - 9ob%a° — Zba’ + 9b° - 9 ob%a® — Zba’
10 5 16 3 16 3

235) —5xy+4 xy + v + 2y?x - 2—y+yx + 2y°X — Z%y

1 2,,3 6 2 3,2 7 2 4 3,2 7 2 4
236) 10—x%y® - 2-x%y = 10y*%®* = 3—yx* = 1—y - 10y°x* = 3—yx* = 1—
) 109Xy~ 2y 10y 18" T8 18" " "15”

8 32 159 2 36 2 1635 9 o .6 6 4
237 9 +3 X = x2 - 3—xy? - 1-x3y? - 12— —3 1—x
) Xy V- 17 17y T 17" Xy 77

7 7
238) 51mn3 + 6im3n2 - 1§mn3 + 1im3n3 +— - 1§mn3 + 1im3n3 +—
20 14 5 10 10 5 10 10

1 1
239) 2£ 2 6ix2 PN 1ix2y NN 1ix2y +=X
18 19 19 10 2 19 10 2

240) 1—xy° +— —19—x° - 8—Xxy° ——X°y — 19—Xx° - 8—Xx°y° ——X
) Yty Y y 2 Y y

1 4 , s 9 ,3 4, 5 4
241) 8—x-1—xy—-2 -—XY ——XYy-2 - —XYy’ ——X
) 4 9 y- oy 12 y 11 y- oy 12 y 11 y

2 33 5 3 433, 9 11 9 1
242) 1-Xy =1 —y - 1-Xy + —X+1—Xxy - 1-Xy + —X+1—
) 5 Y 12y 3) Y 20 18Xy 3) Y 20 18)(y

11 11
243) 31m2 4+ 32m® - 10502 - 8- 1m2n — =mn® — 1012 - 8—-mPn - =
2 3 2 11 17 2 11 17

244) 2 18 -1 102w- 7R - 122 - 102w - 782
14 3 3 14 3 3 14

4 9 1 14 1 14
245) 3—n+—m°-2m* - 1=nm+3—n-2m° - 1=nm+ 3-—n
5 13 2 17 2

10 17 7 11 7 11
246) —x°y° = 1=—xy — Txy — 4—xy°> = 3=—=x%y° = Txy — 4—xy® - 3—x%°
)13 VTR T Y TR T T YT T g

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-19-



9, 1, ., .8 8 ., . 9
247) 10—x° - —y? = 2x3 - 1—y3x? 10 233 - 1-y3x® - 10—
) 20 2 y 9 y 10 y- 9 y 10 y
1 3 6 2,3 1 2,3 3 3 1 2,3 3 3
248) 2—XxX"+1=XYy +2y - 1-XYy +—X"+2y—-1-Xy +—X
) 2 7 y y 2 y 4 y 2 y 4
249) 1082 v v - 120 - 9128 +v2 — 12— 952y
19 7 13 7 13

1, 10 6 1 1
250) 7 xy+1— —y -l—+xy 4=y -1—+=
) 2 Y 17y y 17 2xy 12y 17 2xy

251) —ab’+8—b-—b-2—a®-8=a’- -
13 13~ 14 19 4~ 14 19

1 1 16 1 8 16 1 8
252) —x%y? + 1-—xy® - 1-—x°y? - 3=xy* + —xy° - 1 —x%y* - 3=xy* + —
)10 T T A At A T A Y

3

3 3
253) 12322 + 653 - ¥ — o2 gl o332yl
) 15Xy + 64 o yx oY A

3
254) 20Em+ 21— 16m - 5n®m® + 15N - 16m - 5—-n’m® + 1°n
6 5 20 4 20 4

1 1 16 16 14 ,
255) 4—y* +9— + x? —10—+1 + X 10—+1—
) Oy 15 v 17 y Xy - 17 17 Y

1 1
deve o130 - P o5 LB m 128 - L2

256) 2 - 14
7 9" 17 10 12 17 10 12

5 5
257) 18uPv - 2u-—u’v - yAET VI T YO A SV
12 10 19 12 10 19

1 4 3,, 4, 3 4 4 , 3 .
258) 2— -—X -2—X 3 x 2 —2— XV +3—x°y - 2—
) 2><y 3 y y? y- xy y? s y 14><y

11 11
2 3 11 19 11 11 19 11
259) 14Xy + =y 6=y -3y +3 Ty -6y -3y’ + 3= y%x°
) WPV Y TRy Y Y 12” 20y 17’
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2 6 6
260) — + 39m2 10t 82 1l 10t S8z g Lppg
3 7 4 7 3 4 7 3

6
261) 18-S 3t 63 10 Lien-3 - 63 - 10-Lmen
15 11 14 7 16 14 7 16

4 3,, 6,, .6 53 7 6,, 6 5 _7
262) —X+5- XY XY +1 X +3_y-- XY +1—X +3—
)11 7T T g’ 7 T g’
1, 1 1 1 1 1
263) 3—Vv?+-ulv-5-1-w® - v -5-1-wu® - =2
12 3 2 3 2 3

3
264) e ix3y+1E 3 2 _gl,a
15 18

3
265) 1-C b+ 2b - a2 - 11a%°% + 1 ab? — a2 - 11a%° + 1-ab?
10 5 3 8 3 8
1 10 8 8 10 8 8
266) x3+=xy—1-—xy—10—x’y+1-x> - 1-—xy - 10—xy + 1—x°
) 3xy 17xy 19 Y 9 17xy 19 Y 9
267) 15u°v + 921AV® + 20v° — 1012y + 12083 + 2003 — 102y + 113V
3 19 18 19 18
42, _1sno 23 _ 1 2 1 2 23_ 1 2 1.2
268) 1 —XYy——XYy +17y° X" ——y +3—yx" +17y°X’ ——y +3—
) 5 y 3 y y 15y 15yx y 15y 15yx
1
269) 81a% - Ta®h? - 7a®h? - ab - 7-2-a% - 7a%? - ab - 7-2-alh
9 4 19 19

17 4 1 2 5, 5, 2 4 5, 5 3
270) 10—xX°y+2—X-1—-X"-6—XY—-1—Xy—-1—X"—-6—XYy—-1—X
) 20 y 2 5 8 y 6 y 5 8 y 6 y

3 4 5 10 1 5 10 1
271) —xy* +1—y-8=y’ + 1 —y’x+ —y* - 8=yx® + 1 —y’x + =y°
) 1Y g T T gy XY T gy ey

4 3 3 6 2 3 6 2
272) —x> - 1=x%y - 4=x%y + —x%y? - 1=x° -4y +—xy? - 1-%°
) 19 8 Y 8 Y 11 Y 5 8 Y 11 Y 5
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3, ,10 53 2 4 14 , _3 14
273) 9—y° —-1—Xxy— +1—vy —-5—Vy°x—— +1—vy?-5=
) 4y 17 Y 3yx 15y 8y 3yx 15y

7 7
274) 1352 152253 —x%y® - 423y - 61x2y3 -—x%y? - 423y - 61x2y3
3 19 20 14 10 20 14 10

1
275) TR RN B o BN NI B o B E I
8 5 5 3 4 5 3 4

2 2
276) 7%x2y2 + 2x3y? — y2x% + 12y?x3 - E};y2 - y3® + 12y%%° - :%;y2

+3—xy*-8—X"— 1£x3y3 + 3ixy2 - 8£x3

277) 82x +28xy 11x3y
6 9 2 11 20 2 11 20

2

278) 11—63mn + gmn3 -m*n® - 20mn + 2mn°® - m*n? - 20mn + 2mn?®

9
279) —b+ o2p2 —gLp2a3+ 1gb2 12030 —gLp2ad + 1gb2 + 1238

13 5 15 3 9 15 3 9

1ao 9 22 423 .1235 1,5 4, 12 1.
280) 9—Xy  ——XY - 1-XY +1—Xy - 2—XY - 1-XYy +1-—Xy" —-2—X
)2y14y 5y l7y 8y 5y 17y 8y

1
281) m £102mPn® — 22w 4 P — 12 - 22 -1=
9 11 3 18 11 3 18

1
282) —x° + 11x2y S22 - 1253+ 1§x2y S22 1253+ 1§x2y
4 2 15 8 15 8

3 4 3
283) 6— 31t gl 32 13 2
130 13 18 10 5 18" 10 5

2., 4 1 111
284) 1-x* - —y® - 1=x°y? - 3=—=x+ =y’ - 1-x%y* -3—
37 5 8 19" 2 8 19" 2

285) 1208 +13m- 12w+ 1008 10 m - 1% +
10 8 9 13 16 9 13" 6"
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1 1
286) 110% — 108%0° + 20% — 1-21%a2 + Sb2a? + 2b° — 1-2-b%a? + —b2a?
4 13 4 13 4

10, 15 1, .1 3., 14, 3
287) 2—y? +5-y3 Sy + 1oy 42— yP - = Sy+2—
) 2Ry Ry Ty gy gy Tyt y 19y

11

288) 73 8 — 12m + 2m2n® — 4—>m— 15 + 2mPn® — 4—m - 14x
14 17 17 17 17"

7 4 1 4 1
289) 82 + 2% 4 8310 — 108 — 10-Svi® + 8V3U8 — 103 — 10—
6 19 5 20 5 20

1 1
290) 730+ 923 - w2 1250+ 158 - T — 1280+ 118
5 14 7 3 18 7 3 18

4 14 , 14
291 1 =Xy + —x3y = X2y = 23y + 14—x3 — X%y - 2x°y + 14—x°
) Y XY T XY =2y TS y y TS

292) 20— 11uv 9-3—- u+31—3uv 9-3—- u+3—3uv
6 5 14 5 14

1 16 10 8 , 10 5 8
293) 9— -8—+ -8—+1—
) y 19 13 13 xy 15 157 13 13 v 15 4

3 2 12 7 2 12 7
204) = - xy - =y X -4y - T— -y -4y - T—
)5 Y gy 137 123 137 "2

1 2 2
295) 110+ 10t - 320a% - Zpta + 2-ob - 32ba’ - Zba+ 2—b
25 7 5 16 7 5 16

2 1 .2 1 .2
296) 2xy* +4= - xX°y? - = - 7=xy* - Xy - = - 7=xy°
) YA =Xy L STy XY STy

y® +3xy? - =y - 9> yPx —yC =95 Y2 - 5>
16 "3 ¥ 9N Y - o sy

297) 1— 3

1 4 1 4 3 1 4 3
298) =x’y - 1—xy® - =x%y - 1oxy® + =X - X%y - 1-xy® + =%
) 5 Y 15Xy 2 Y 7Xy 4 2 Y 7Xy 4
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5 5 3,,3 3,3 11 3 4 3,2 3.3 11 3 4 3,2
299) 2— + —X°y° +5y°X° ——Vy° = 1—y°X° + 5y°X° ——y° - 1—-y°X
) 11 18 y y 12y 9y y 12y 9y

2 2
300) 12 w132 o a8z 132 i 2 s aS02s3t L 2y
10 15 7 5 3 7 5 3

16 .1 1, .2 1 1 7 , _5
301) [5ox+22xy| - [82xy2 + 1-Sx - 1=xy| - [4—x + 9-—-xy? + 5>
) P19 2xy) (3xy 13 3xy) (10 10”7 exy)

3 2.,3 1 2.,2 3 2.,2 3:,3 2 2.,3 4 3:,3 2.,3 1
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4%y + [9—=x+ 1ox%y? + —y3| - [ 2¢%Y° +2 -1—x
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380) [—=x3y® + 13 4] - 10—x3y? + —x%y% = 1—x3| + [1—x®y + BExzy2 -=x3
13 11 17 17 12 6 7

4 3 5 2 8 15 3
381) [1=y3 + —x3V?| + 153y + 1=y + 5— 3+ 6—xy? - 3=x%?
) 7y y ( 9 y 5y xy 11y 19xy p Xy
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387) [—m°n+ 4—n +[12mn® - 32men - Ln) - (8L + ——m® + 1-n
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7
468) 5> ab - ob2| - [2322ah - b2 + 7-Ca%b)| + [2ab + 1->ab? + 242p?
46 4 35 38 47 8 22 37

1 6 3 1 3 2,3 14 3,2 17 3 8 2,,3
—X-1— -19 + XY =X~ [8 =Xy +19—xy" +1 —X
llxy ) ( o Y 15 Y 19Xy 15 Y

5 25
470) (-a+1=a%| - 12922+ 2L a20% - 2| 4 (218 a2 + 3022 4134
8 36 33 31 39 16

5 13 1 1 4 20
471) [=x3y? + —=x3| - 15—3x3y2 +9S2y 18—9x2y3 + 20£x3y2 +13—x%y* ——x3
43 11 36 37 33 37

11
472) 1§u2v3 - 1£u3 + 1£u3 1922 + 1§u2v3 +|=uA?® - 12u2v2 + 122u3
4 11 17 7 38 12 42 3

§n3 + 1lm2n3 + 11§mn3 - 13ﬂn + Zm2n3 + 17£m
42 15 13 48 9 47

9 , 5 , 1 4.9 55 .31 ,\ (19,, 5 _ 23,
474) |25—xy? -y | = |6--y3 + 1ox?y® + 8 xy?| - [oxPy® + 222 + 2355
) a4 y) (23y TR B PYRM 6 33’

1 1 1 1
18 4103 - (2 13 033+ 23] - (2 - Bas10la
46 16 17 7 1

4 1, 1 21 7 5\ (16 , ., .26 15
476) [—xy—1=y?| +[17=oxy+ 25—y +1—y?| - [=xXy* - 1—y+ 6=
) (17Xy 3y) ( o " 07 10y) (39 Yy Y
4, 10 15, .9, 5., .1, _20
477) |5=x+12—xy| +|[1-Xy* +1—X" = 2xy| - [=X°y* +1—-X"—-3—
)( 7 21Xy) (3 T YT XY T 33"
38
478) 15£x—11x3y2 #[1lx+ 1£y3+—x3y2 - 12éy3+41x3y2+9£x
15 7 25 457 47 22 3 11
1 2 1 1 1 7
479) 2822 4102) (38231 150 ap)+ (108 b+ 123 12174
48 26 21 16 42 11 47 9

480) B iy3 #1420 21300 4 30,0) + [ B2 - L _ 330
16 13 41 23 12
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8—m3n- 21n3 —(45m®n? = m®n + 4ﬁn3 + lln3 + 1%m2n + 252m3n
34 19 17 35 32

37 , .33 15 ,
— S5y -1k + 25
42 497 " % y)

1, ., 4 13 2 7 27
—Xy° + 23— 1— +1 x —X —x? +17 + 20—
0 y 7y) ( y y 14 ) ( 48 y xy Y)

13, .43 4\ (12 , 17, 14 , 16 o, 7 25,
1=y +2—xy° | + [ =xy* + 1=y - —xy° | + (1= —y+2—
22”7 Xy) (25)(y 477 " 29" 207 T oaY T 8™

- - 1£a2b2 - 30a%| + 12£a2b2 + ia3 + 6ia2
23 27 5 29 38

3 7 2 7 1 1
484) 5512 + 21y - [10-Lwv + 92082 + 17| - (152 + 14t + 130802
14 20 33 12 4 9 7

4 13 2 27 1 11 2
18—x%y® - 1—=x%? —xXy+ 1%y + 1— - [40x%y + 3=—=x%y* + 5=x%y°
11 Y 33 Y 3 Y 44 Y 39 Xy Y 16 Y 5 Y

11
488) (0% + 43a%p°) + [—=a’b + 11203 + 172 0208 + (23203 + 131
46 30 50 16°

a’b’ +:L233 a’b
25 35

489)

1.1 2 14 , .5 5 . 25 , 1
12-+15= Coy = oxy? + 102 |+ |25 xy® + xy? + 5=
6 2xy ( v 177 7) ( 3 T "%

33, 7 4 25 , 27 , 45 , 17 5 4 102 72
1—x° ——X 25"x% + 1= X2y + 24— - |—X —X
y) ( 34 41 y 46y 22 y- y 23 y

11, .9 B os_ 1 | (151,015 4
491) [12="x%y + 1 1oxy + 25— 1= 12xy + 13X
) ( AT y) ( WH XY Y T (B0 T Y T Y

3 2,2 5 3,,2 2 3,,3 11 3,,2 43 3,,3 2 2,,2
O—xy " =1 =Xy |- |1 XYy —— XYy +1 XYy |- | =Xy +20—Xy -24—X
2 i 45 y) ( 4 Y 9 Y 29 Y 15 Y 44 Y 43 Y

1iu3v - w32 322v +16— 19 ulv-2=— 19 uv® 2u2v3 - Eu3v - Eu3v2
11 3 50 28 5 22 14
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23 , .10 1 13 ., .4 , 8 _ 17 . 1,15
494) (1543 + 25|+ (12 - oxy® - 1—y3| - [1- - 17~
) ( 247 49) ( 3 27 a4’ n Ta? ! 46Xy
8 2 1 5 13 7
495) |=x2y° + y?| - =Xy + 13y° + = | - 4=y + 1oxPy® + —x°
)(17 Y y) (5 YIRS 187 TT18" Y "5
28 2 1
496) 142 4 4ﬂx3y #[ B gt =%y + =Xy + 1= e 418
5 50 47 3 3 2 12 41
1 1 7 3 1 14
297) [Ex® + 12533 - (1252 + 3152 + 2-058) - [P - 1553 + 25 2053y8
) (2 y ) ( 2 y Xy 24 4Xy 2 19 y
12
498) |—ab?® + 11—3b3 +(37— 2 a’b+ 13ab2 1 a3 + (12 %0 + 22ap® + 24£ab
5 35 15 7 20 13 47 35
499) 12mn® + 54 men3| - (1512 12 54 6im3n “12 e - (12  nen s a2t + 1800
9 47 47 10 3 19 16 47

v+ 151—0u2 —|49u3V3 + 13.1—3u2 - lv + 1v - 3u2 + 11u3v3
31 29 10 2 25 2

9 1 8
501) 7v* + VTV STV Y R Y S T S P E Y
2 10 9 9 5

8

5 2.,2 1 2 4 3:,3 2 2.,2 2 2.,2 6 2 5 3,2
502) 4—Xy +4_y +—-Xy - 10Xy  + y +4XYy +1_y" ——X
) 5 y 2y s y 9 y +y y 7y 9 y

503) 220t + 334007 + 41032 — 120% + 15a%° + 55a% + 1-2a%2 - 32a%°
3 7 2 5 5 4 4 3

1 _5 1 6 3
504) 2x%y? + =y +5=x%y? - xYy® - 1=x%y + 1=x"y® - 8x%y* - 3—
) XY+ Y+ S XY =Xy = IXy 10Xy y =3,y

1 2 4 2 1 4 2 2 2 2 4
505) 2 —x*+ =y + 15X+ Sxy? +—xy? - 2= y? + 5—x
) 3y 5 10y 4 5)(y 10Xy 7y 10
3 1 5 1 2 6 9
506) x°y* = 1=x%°% + =x?y* — 1=x%y° + 1=xy® + 4=xy® - 1-x%y* - 2—x%°
) X7y Y XY LY Loy HAXyT — 1oXy - 20 Xy
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1 1
507) 2x3 + x%y? + xy? — 2x° - EX2y4 Fxy?2 -2 % W3 — nyz

5
508) x%y° e xy . xy+xy i1l xy+ xy 2x2y3+§x3‘y4
5 1 3 2 1 3
509) —a*b* + —a+-—a’b+ab’ + 51a%p® + Zab? + Sa - Satp?
8 2 10 6 5 4 4

3 7 1 2 3, 3
510) Oxy? +—y* +9—x+ 1=y - 3=Sxy? + 1=y  + “x +
) 9xy 5y 0 8y 5><y y p a

4,
511) 11 satiolips 32 adn i das gdie 33
2 6 10 8 5 9 5 10

3 9 2 5 1 4 1
512) Sx3y* — 1—x3y + v? + 4=x%y* + 53yt + 153y - 1—y? - 3=x%y?
)4 y 10 y+y 3 y 5 y 3 y 7y 5 y

4
513) 5—x + 5— +4 - 2x = 2y* + 2xy — 2x*y* + 8x*
) 9 5y 0 xy* - y* +2xy y

1 1 3 6 2
514) 9y* —8x%y + 1=x? + 52y + 1=y* + 2y* + 2—xPy - =x?
) 9y y > p y 4y y - y 3

1

2 3 1
515) —v® + 3=u’v + 113 et ie o130y
7 6 4 7 2 2 7

9 1
516) ED L NP LN =x%y3 + 5§x2y BN 1§x2y3
8 10 2 9 6 9 2 6

1
517) 5mn* - 13m2m® + 4202 + 4220 — 21t + 2 + 1-Lren® - 212
8 6 9 6 2 10 3

1 7. 1, 1 75 4 1, 1
518) —xy+5—Xy+ X +5—xy+—Xy+X —-Xy+_
)7><y 9 y 5 4><y 3 y p y 2><y

4 1 2 5
519) 3§a4b +52ab° + a'h - 1°a%h - —ab® + a%b + 12ab° +~a’b
7 5 8 2 3 9
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4
520) —m?n+—m>n + 22m2n + 42mne = 2000 + i - 2mn® - 220
7 5 4 8 2

1
4
5 4 2
521) 12me + 13mtn+2 —7md = 1.8min+ 2 — 11 + Zmitn
7 6 6 9 9 5 3
1 3
522) =mn®+mn®+m-—mn® - 13men+ 1-0m+ 52m? + 4 men
2 5 5 9 8 2
523) 3ﬂx2y +8x%y? + PENON llxzy - lzx3y2 + Zx3y2 BV 1x3y4
7 2 2 8 9 9 6

6 4.2 1 4 1 3 1 4.2 7 2 1 3 1 2 3 4
524) 2—x*V? + 1=xy* + 1—x3y + —xV2 + 1—y? + =x°y - 3=y’ — 1=
)7y 2xy 10y2y 10y 4y 2y 4xy

3 3 1 5 8 1
525) 2x3y° — 1ox3y? + —x3y2 + 1-x3y? — —x2 + 2—x%y3 + 1=x3y? + 9x?
) y 8 4 10 4 6 y 7 9 y 3 4
1 3

526) 2b° - 12a%° +2b% — 228202 + 2> a%h° + —a%h® + Sa%h? + —b°
3 3 6 9 10 2 5 6

1
527) 1052y + 4228 e 520t -1 228+ L 1828t
5 4 9 10 6 5 7 5
1 2,,2 3 2 3 7 2,2 4 1 2,2 3 3
928) 1—XxXy —4xy" +1—=xy" +1—Xy" + =X+ 5—Xy +3=xy” +3X
) 2 y i 5xy 10 y 7 10 y 5Xy
1
529) 120 + vt 1 a2 32 e 520 1 e 120mve — 1 Lyt 1 4ty
6 8 10 6 4 9 2
1 2
530) 10 min? + Zment + 1 2mPn - 31n2n® + mfn2 + men® - Zmnt + 13mtn?
10 2 7 5 3

1 1 1 7 1 4 1
531) Em"’n2 + 1Em3 + 3%m4n3 + :%Zm"'n2 +5-—m® +=m*n® + 4—n* + 3=m"n?

1 1
532) 1202 U TVt + 3500 + 1204 20+ 35 - 13
2 4 3 7 4
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1 3 1 2
533) 3x— x%y% + =Xy + 7T—x - 7x°y® + 1=x% - 2=x + x%y°
) y 2 y 10 y 2 7 y
3 3 1 2 1 3,4 9 2 1 3 S 2 3 4 2,,2
534) 1-Xy+-y +3— XYy -1 —y +1_Xy+5—y +2Xy—-2-X
) 1XY+ oy 43Xy =1 oy +1oXy + 50y y=2.Xy
3 3 1 2 2
535) 2u® — 11 3 eate s S s e s S s 2
8 4 4 4 3 7 3
6 2 1 1 4 4
536) —x—1-x* + =y +8x* - 135125 422 4 4—y?
7 5 2 4 3 7 5
4 1, 2 1 1
537) X'y + 5y + oy 4 4SxAy2 + Sx 4+ 1552 +=x
) Xy 9 Y’ 2 4 Y 7 4 - 7
Soaa 2 2 44 4 S 1,4
538) 1-X"y' ' ——y+ 1 XYy +=xy+1-y+2xy+ Xy +2
) XY 3y y oy 1oy 2y +oXy +2y

3

539) —b+1ia +1= b+ a +5laps1d b4+11a +11a%
10 10 5 2 5 3

7 2 3 5 1 1 2
540) 8x'y* + —y+4=-x*+2=-2=y*+1-y-3—-1-y*
) Y 10y 7 8 6y 3y 10 5y

1
541) 5(13x y+13x4y +y- 1 xy + 2x*y + 2x* y+2 y+—xy
5 7 1 5 5 2 1 3
542) 1=x%y* +—xy + 1=x+ 2=x"y? - =xy + =x"y* - 1=xy — =X
) 6 y 9Xy 5 6 y 8Xy 5 y 4xy 8
5 1 1
543) 5242 + 12ab + 2a%° + 3ob% + 1582 + ~ab + ~b® + 1—ab
9 8 7 7 5 2 3 3
2 3 7 7 1 2 5
544) —y* - 2=x’y + Xy +2—y* ——y* + 1=y - —y* - —y*
)5y PR AR AR S S e s

432 14,332 14 1, 3 44
545) 4—x -—X'y+—X + =Xy + Xy + 1=x +1—XxXy—-1—X
)5y 3y4y 2y y 9y gy 1oxy
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5 1
546) lzv+11u W+ v+ uty 11u v+ =udv +55uv +53uv
9 2 6 2 2 7 7
3
547) —n° - 23mtnt + atnfn® + 2 mint + 4203 + 23R 4 13 - 1202
4 4 6 2 9 8 7 3

1 7 1
548) =x - 1—x° x 2 +8x+2 x +— x +1—
)7 0 y+=x% - =Y y y* gV

1 7 1 3 5 5
549) 2x°y* + =x* + —x* = A3y + 4=x42 + 52Xt + 4> xy? - —xy?
) DY yImag Y e g Ay Ty
2 2.3 3,2 2.3 3 7 53 6 ., 9 3
550) 1— ab +54ab +3— ab —a‘b’+ab +5§ab +17ab ——Oab

1
551) 51x3 4552 4 xy® + 11 4 4ix2y2 PP =Xy + 11x3y
3 2 2 10 2 3 2
552) 4= a“b3 1§a2b4 rath® +2-La2h? — 12 a2h? + 21a2p? — 12800 - 1§a2b4
9 7 10 2 2 5 8

4
553) 2x%y°® - 11+ 25 oy 5§x2y3 + 11x2y3 EENPN:
5 5 6 2 8

1 2 1 2,,2 2,,2 2 1 3 5 3 1 1 2,,2
594) 4 X" +5— XY + XY +1-—-4—xy +2—xy -1_-+1—X
) 2 4 Y Y 5 4xy 8Xy 3 9 Y

2
555) —ulv® — 11w+ 1 i+ 1200 + 5108 + 5118 + 120302 4 1128
3 2 2 7 6 10 3 10

7 1
556) 5O+ + 2 + v+ 1+ 120+ 12 + 2
9 10 3 6 4
1 2 1 4 4 1 4
557) 3=mn-—m°n® + 1-=m°n? + 3—-m* + 2—m*n* + 2—m*n* + =m®n? + 22
6 7 2 5 5 10 5 10

3 2 1 3
558) —X +— +—y2+1Z +=X+ 1§+5£y+ 18
4 5 7 5 4 7 8 9
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1 2.4 9 2 4 2.,4 3 1 2
559) 5=x%y* — 10y + — + 2y -1y - =
)5y yloy 1Oy3y y 5y 4y

560) b2+11a + b2+5 Oab+23a2 + 2ab - 102 + 1122
2 7 7 2 3

1 1 L1
561) 2x - 1 +5= x+1 +5= +8xy2 —— 1=
) Xy 3 xy 5 Xy’ xy 1%

1 3 3 1 4 4 1 1
562) =x°y° + 4=x%y + =x’y? + =X’y + —xy + 3—xy + 5%y + 2=x°
)5y XY XY H XY YIS XY+ 20Xy

2 3 3 1, 4 4
563) 5=x°y* - 2x° + =x° +1 x4 +1 ZxPy* + =xPyt - —x3 + 2= xty?
) 5 y - 7 5 y 2 y 5 y 5 7 y

1 1
564) n+ 22n4 . 9gn B I [T S P 9
9 5 2 3 5 10

2 9 1 5 1 3
565) 5xy — 3=x* + —x* + 5=x3y* — 25 xy + xy — 1=x* - 2=x3y4
) 5Xy 5 10 9 y 9Xy Y 4 5 Y

1 1 1 5 5 1, 1
566) 5—ab® - 1-a’b® +3=ab’*-1-b-1-a’b*+1-a’b®+ ab2 +=-a’b®
7 8 3 9 8 2 3 4
6 5
567) ST VI N VR T VP L P ST W N VI
4~ 7 8 3 9 7 9
2 4 1 5 3 1 1
568) 2—x'y* +—xy + 3=y* - 2x*y* —2=xy + 2=y® - 2=x%y? + 1 =x"y*
) XY T3y Y m2 0yt 2,y =2 Xyt oxy

2
569)4 xy 2 xy + x3y* 5%x4y—3y+1 x°y* 3:1)’x4y+gy3

1 2 1 4
570) 1-v? + 2uv + 3—u*v* + —uv + 220+ 130 - 130ty + 1300
8 3 2 7 5 8 9

3 3 3 3

3 33 3 9 3 8 53 3 1 1 1
571) 5—x°y° + +—Xx°=-3=X°y° +2— +1— +—x°+1—
) Xy Xy 0 oY 4xy 3xy Y
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8 . 3., 7 4 3, 2 4 2
572) 1ox+2y3 +4°y% —2x - 2-xy® + Sy® + 85xy® + 15x
) 9 y 4y 10Xy 4y 5Xy 5
2 8 1 1 3 2 1 1
573) =x* ——y> + 1-x%y% + =Xy - 2=y + 35x%yR + =Xy + 2=y
) X T TG FOXY m 20y A3y Xy + 20y
1 2
574) 4x2——x3‘+4gx2—5x3+—x3y3+11x2+1§x3‘y3—1§x3
3 7 9 3 7 6
234,33 15 73 134 534, o353 9 »
S575) 1 XYy +- X +-y +1 X+ XYy +1-XYy +8-Xx -3 —
) 3 y 7 3y 9 3 y 6 y 4 10y
1
576) 22min2 + 4200 + 18min+ 1 men® + 420t + 13m0 + Znnt + 22 mene
5 5 9 2 5 5 3 8

3 2 1
577) ab® - 1-a%h* + 5-a%h + 1-b? + Zab® + 1-ah* - ~ab® - 4a%b
4 2 4 4 9 3 2

3

578) 1§ab3 +3a%% + 22ab® + 2a%b® — 12ab + 1°ah® + 3°ab - 1ab3
4 6 5 6 5 4

1 1 1 1 1 3
579) x3y* — =x+ 3y +3-x— 1oxy? + Sx+ =xy -1y
) XY g VTSR Y T Y T g

1 1 2 4 1 1 2 1
580) 2=x* - 1=x%° + =x* + 1=y + 4x%y% + 1=xy? + 2-x* + 4=x%y°
) 29 PR 57 T3t Y TRV T 2"

1 1 3 1 1 3 9
581) =x* — 1-—x%y? + 2x%y% + =x%y? + 1=x* + 2—x%y* + =x%y® + —x*
) 9 10 Y Y 4 Y 2 10 Y 4 Y 10

1 1 2
582) 112 +52m+ 3200 + 5 mn + Sma m? + 2n® + Zmin®
6 9 6 5 2 2 3

1 1 1 2 1 4 1
583) —a’b* - =a’b*® + 1=a’b® + —a®b® + 5-a’b* + 5—a’b® + 52477 + 5-a2b*
3 2 3 3 2 5 6 6

5 2 2 3 4 1 2. ,4 3 2 2 3, ,4 7 4 1 2. ,4
584) 3—y +x“+1— -1—-XxVy' ' +3—y“+1—Xxy" +3— +1—Xx
) 9y 5xy 5 y 4y 3 y 10xy 5 y

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
- 45-



1 5 1 7 7 7 1
585 1_X4 4 + 1_X4 2 + _X4 2 _ 3_X4 4 +— 4 + X4 2 + 5_ 4 + 1_X4 4
) Y T XY A XY S 3y Ay y S v Xy
5 , 4 , 1 , _4 2 3 , 5,
586) 6x+5—xy? + —xy? + 3=xy* + 3—x+4=x+ 1-xy* + 4=
) 67 "7V Y T 3 57 T %Y
2 5
587) —ab + 5b* + 1100 1200 + 32a%2 + 2a%h? + 15b% + 12ab
3 7 7 6 9 8 3
1 4 3 1 2
588) 9x——x> +3—x> +2+=xy* + 12 1t 2=x%y*
4 5 7 10 4 3

3 3 1
589) —u*v® +—udv + 2t e teveiterotine o222 41
4 8 4 4 6 5 6 9

1
590) 4> - =x%y + 2£x3y +124328 415 4 8§x2y - 21x3y
6 4 6 5 8 8 7 2

591) 21 B0® + 1Pt + 12mnt + m*n? + 4P + 35m - 21ment + 5§m4n2
10 10 8 6 2 2 9
13 2144, ,3 2,344 3,1l a 144 .55
592) 5—y =3 XYy +4—y + XYy -2—y +—y + XYy +1—
) 52V XY ALY XY y RSy XY 1y
1 2 2 1 3 3
593) =x* —1=x%y + 5=x%y® - 1=x%y + 1ox3 + xPy — —X
) 2 y 7 y 3 y 3 y 7 y 10

1 3
594) 1teve Lot o3 3yt st oo
3 10 2 7 4 6 2

1 4 5 1 2 1
595) —xY® —1—=x?+ 2% +1=y? — XY + 15Xy - 2y? —2—x?
)8 y 7 6 5y y 5 y —y 10

1 3

2 1 1 1 2
596) —a’b® - 13ab+12ab + ~a% + 1°a%h® + —a%® - a’h + 2ab
4 8 3 5 4 10 4 7

1 5 4. 2 1 1 2 4. ,2 1 1 4. ,2 3 2
597) —xy—-1—Xy " +5—xy——xy-10x"y“ " +1—xy+1—Xxy —-1—X
)2xy - y 2xy 5 y y 3xy 5 y 0 y
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5
598) 4202 + 28% + 1202 + 5-a%b* + 2 2t + 2b? + 524 + 2a%b*
6 8 3 8 5 7 9

599) xy +22 y PE xy + 2x%y° —1§y3’+1§x2y3—1£xy3—2y3

600)3y 6y+ y+1 xy+ y+ xy 2y léy4
1 2
601) 22 a0 + 2p| - 12 b 12ab? - 4b3 23ab2+1—b+2 a
9 4 10
7 2 1
602) (2x?y* + 4—x 6= —x -—x3| - |7=y? 1 x x
)(y 11)(23/ y13)(4y y!
603) 51UV2—£V 31yt + auy uv 1uv - —v u?v*
13 11
604) 1£n2+2mzn2 1m2 —4min+—n?| - 1 m°n n += m n?
1 11 2
1, 1\ (4., , s 10 ,
605) [5—Xx°+2=Xx|—[=Xx 8—x° - —1=x-2—"xX3y + 7—
)( 12 2 (9 Y Y VT oXy

1aa_1 4|_
11 5 9 8 10

2 4
5ix4y - 8§x3‘y4 - —xy4) - (§x3y4 + ley“ - 1ix4y)

4 4
607) 32iavt - 1 83003) (3wt + wav + 2unve) - (130 utve + 2y
3 14 2 7 7 5
1 1
608) [n? + =m*n® 2B minz + 1220+ L) - (18 me - 1 3menz - 32
6 14 5 14 13 7 9
1, 1 1 5 ,\ (8, _5, 2,4
609) [1-Xx"—-Xx 11Xy " +2— XY| = [=xXy+7—X"+—=x
)(5 y)(zy FERRAN 14y)(9y 6 57
2 1
610) (—udv® —6uv?| - 11wty + 5§u2 1) - [Lutve stz o1 e
13 6 5 2 10 3 12
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3,,3 3 3 2,3 3,3 3 3,,3 2,,3

9 3

3 1 1 .1 4
2xy* + 7T—| - |42yt +6—-1=%° 7—+1-—X
i 10) (ny o 3 (¥ T Y
1 3 3,,2 3,,2 1 2 3 1 543
1—xy” -2—x Xy —— -1y’ | -7 -— ——X
N SRRV NI RN

2
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6 1.3 (14 2.3 _ 13 S 23_o13 4
780) [1—+1—X |y +16xYy ——| - |2—+2Xy - 2—
) (17 Y ) (4y ¥ o) \Fe T Y Ty
781) (16mn + 6—m3n3) + (8m3n4 -—mn® - mn) - (—mn m°n® + 4 m3n4)
782) 1ix4y - =y 7T =Xy + 1=y - =Y + 71x4y + 1—x4y4 y*
10 19 15 13 5 2 1 19

3 4 2 2 4 S 2 2 4 1 2 1 2 2
1—xy" =Xy +[=X" —=xy" +— -|1zy " +1-Xxy+6
Xy y) (5 6Xy 5xy 3y 9 y+0oxy

785) 224 + 3a%b%| + [12a%h - 1-1a%® - 42| + [8-Cb + 10242 + 91—3a3b
7 19 2 12 5 17

1—u*v- 1£u4v4 - 1v3 + 1lu4v4 + 8§u3v4 +|14uv + 6£v3 - 1gu4v4
17 4 11 7 13

20

1—+7=x |- |=Xy-——Zy -4|-|-7 37y —=X
7 ) (5 Y 17y 17 3y 6 Y

1
788) |—x* + x°y3| + 6§x2y4 EPE N S SO L N §x2y3
5 19 10 20 9 8

x* + 181x3y4 - 61x2y4 +52% - X2y | + C%Ex?’y4 + 7lx2y ro iy
6 9 6 15 10 18

=
o
0w

13 5.4

18 , 1,5, 1
—Xy" +3—X’y—1—X +18
18 y 19 y 3 y ) (

ix4y4 +7— 3y2 _ 1§X3y)

790) 6§x4y4——x -6 X
3 10 18 7

4 2.,3 1 3:,3 7 2.3 1 3 3:,3 3 3 1 3:,3 1 2.,3
=Xy + =X -|2—Xx +9—X" + 2X —18—Xx +5=xy" + 1—X
y y y 15 y 16 Z y 3 y

10

1 1 9 2 6 5 1 11
792) [9=x*y + 8=x*| + [10—x*y + 5=x* + 9—xy?| - [1=x*Y + 7=xy? + 10—x*
)(2y 6)(11y 9 7Xy 6y 7Xy 15
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794) 11ab? - 141 a2p?] - (12020 + 32ah - —ab*| + [12ab + 82ab* - 3124202
2 12 6 11 9 3 15

2 7 6 9 2 5
X + 1_X4 2\ _ _X4 4__X2 2+7_X4 2| _ 1_X4 2_X2 2+_
y) (15 TR AT AR B et A
12

1 1 1 7
796) [—n®+1=n*|+ 18+ 5t - 2200) + [nt - 2303 4+ a3 men?
8 14 14 16 7 5

“m*n? - 1§m2n4 + 11—3m2n3 - 1£m2n4 - 3§m"'n2 —|2m?n® - 11—3m2n4 + m*n?
7 14 7 7 18

7 9 44 3 12 4 4 1.15 11 4 4
798) |6—xy +5—xNV |- [=ye + 7=xY + 1] - [7T= +=y2 + 7T—x
)( Xy 1 y) (y 1 y > 9y 8 y

1 3, [3 , 1 1,2 (3, 13 1.,
—X+ =X =1 —=Xy" ==X+ 2—Xy | =[xy  +4_—x—-3=X
5 y) (14)(y 5% 157 V) T\ T Y
2 5
801) M2 + 8 + 202 4 2m — 2m? + 2t + 3302
7 8 7
1 5 1 1 1 3 3
802) =x2y° = 3°x3y% + 32 + 25x%y° — 1ox%y8 + x3ye — 22 %33
) XY T3 XY A XY 2 Xy = IOXYT H OXY T = 20Xy
1 4 S 3115 4 3RK5 4 4 4 4
803) —a’b—-1—-a’b>+2a"b+3a’b”> +—=b" +2b" -a’b
7 7 5
1 4 1 1
804) 4—u'v-2—-u’v?+ 130 1302 1 130y w1 iy - 1 Luae
6 7 4 7 5 8 5
1 1 1 1 1 4
805) 1=y* +1-xy + 1=x° +4=x°y° - 2y* + —xy + —y*
) AR AR g Y T LY
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806) 4—X" = Xy+2X"+4_xy" +2—X'y+1—-X" -—X
) 3) 2 Y 3xy 8 Y 3) 3 Y

1. 22,22, .1 5,,°2.2, 232
807) 1 —Xxy+4—x"+1=-X"+1-xy—-2X’y +—X"+3—X
) 2 Y 5 7 3xy y 6 4 Y
3,,3 4 4 S 5,4 7 3,,3 3,,3 1 4
808) u’v’-2u” +u” -3—-u’v' —-3—-u’v’+u’v’-1-u
6 8 3
5 2 4 2 1 3 3 4.5
809 3—x+1— x 1-y-2—Xx+4—x+1-X
) y 8 Y- 3y 4 8 4 y
3 1
810) 2u*Vv® + 1ty 3 — 23y s 12— atue
3 7 5 3 5 3
1
811) 2u’ - 2§u5’v4 + 1§u5’v4 SPE N Y 4gu4 + 7ucv?
4 4 2 2 3
1 3 1 1 1
812) 1-y* -3~ x5 +1+4= Xy + =y = 2= x°y?
) 6y y y Y Y 2y
3 1 3 5 1 4
813) 2=x%? + 2x°%y° + 1-xy? + 32Xy + 253y + =Xy + 2—xy?
) Xy Yy LY 3y 2T OXY 200y
4 S 5 1 4 1 5
814) 1 xy +4 xy +8— xy+4 xy -3—X*+2—X'y+1-X
3 6 2 2
1
815) 113 + 8mPn2 + 12mPn? — mn® — S + 31 + 15m
4 3 2 4 4
1 1 3 2 1 1
816) =x° —1=xX2y+1°y° - 1=x° - 2=X%y + 2=y - X°
)5 2 y 4y 5 4 y 5 y
1 5 1 1
817) 2y +=x°y° + 2x°y° — 2y + =x°y? + 3=y - 3=x°y°
) 2y XY Yy T2yt Xy A3,y - 3Xy
2 1 1
818) —b° - a®b* + 3a%b° + 41a3b4 - 1§b5 +=b°> +=a’b*
3 2 6 4 5
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819) ~x'y® + x°y° + 4=y’ + 35Xy - Sy +4=xYy P + 1P
)4 Y EXY HASY #3 XY mOXy ALY R Ly
7
820) 13802 + 3302 + a?b® + 42 ab? — 1282 + a2 — L ab?
4 2 3 8 8
1 4.5 3 2.4 S 2,4 1 3
821) —x +1 xy +1-X"y? + X7 = 33Xy + 7T—XYy" +—Xx
2 6 2
1 2,,2 1 4 2 3 4 2 2,,2 2 2,,2 3 2
822) 4—Xy +—X'y+3X"+3—-XYy+4-XY +1-XYy +1-X
) Y XY YAy XY L
1
823) 2m> ——m"* + 23w+ mPn® + 22mPn2 + m + mPn®
3 5 2
3 2 5 1 1
824) 2x°y° -2+ X%y’ — 13y  + 1= + 1= + =Xy
) y 4 Y 3 Y 6 5 2 y
825) x +y* +22x —7x+12y +8y* +4 xy
1 3 1 1 1 1 5
826) 1=y° +1-x* +4=xy? - 12y - 2=x  + 12y° + 2= x%y?
) 2y 4 6 Y 6y 6 6y 6 Y

4 1 5
827) —x*y* — =xCy* + 253y — +1 x +3= +4 X
)5 y 3 y 5 y y y* 3y 5 y*

5 6., 1 1
828) 22 vep+> + op3 - Laape Ly g Lqape
7 8 7 3 2 6

3 5 2 4 5
829) x* 1 x S +42x4Y° - 35x3Y° + 15Xy + 43y + =x4
) Xy - y Xy gy XY TALKY XY
7
830) ab4—a3b+2§a3b+1%a2—2%ab4+1gab4—1—a2

1 1 7
831) ng“n5 + 1§m4 + 3Zm4 + 1§m"'n5 +2m°n°® + 2m°n° + 1%m4n5
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832) —uv® - 2300 + 13V + 3205 + 81uhS + 25 + 1208
4 4 3 7 2 3

1 4
1 y5_2§+3%y3+11y5__

833) 11y3 —2= 4=
5 3 4 8 37 7

1
834) 1202 — 2t p1 e s 2z 33 1302 4 02
7 5 2 2 4 5 7
1 2 1 2
835) 1-x°y? + 7x3y* + xy* + =x%y* + 2§x2y3 +4=xy? + 4=x3y*
2 7 6 2 7
5 2.4 2.,5 2 2.4 5 1 2.,5 1 2.,5 2
836) 3—XYy —2XY  +2—XY ——y—-3—=XVY +—XYVy +1—
) sy y XY Ty T3 Xy Xy Y
3 1
837) 6xy? + 4éx + Z%X +xy* + 7x4y4 HoX- 2§x4y4
1 1 3
838) 1+m*n*+= + 13m0t = Len+ Stnt + 6§m5n
2 2 4 7 4
3 1 5 2 5 3 1
839) —xV* + 2=x%y + =x3y° + =x%y? 4+ 2xYt + 1%y — —xyA
) <Y g Y gXY Xy gy XY= XY
2., .1 4, 4, 3 1,
840) 2—y° +1—xy+1— -2xy+—y’ +1—xy+1—
) 2y Sy Iy m 2y ey Y10y
1 1 1 5 1 3
841) =x%y° — 3=x%y* + =Xyt + 15Xy + X2y + 1=x%y3 + 35Xyt
) =Xy gy XY ROARS gy TIxXY
842) 32a50% + 7ab® + 19a%° — 1-1ab® + 1°a%h* + 4>ab® — 12a5h*
6 5 7 7 6 5
1 2 5 1 5 1
843) —=x%y° + 353y + =x%y° — 1=x — 1=x%y* + 6x%y° + =xy?
) gy XY XY 5 Xy y Xy

6 s 3.3 2 3 s, 15 35 15s
844) 1—x°y+—x"+5—x°+ +—y +—y’—-1—X
) - y s c Xy 2y 4y 3 y

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
- 65-



3
845) 1205 12mn2 + 13 mns - 1108 - 3z + 122 - 1208
5 3 8 2 5 6 7
1 1
846) m®n? + —m°n* + 32mPnt — 1:2mPn + 32 + St + 3Smen?
4 6 3 6 2 4
1 1
847) 11 s 12 e 120 - tun 1t s s+ L2
3 5 8 4 2 4
1 1 1 1 7
848) x%y° +3=x°y* +2=x%y% + =x%y° + 4yt + 7y - 2—x®
) X7y 3XY T2 XY XY ALY y'=2Xy
2 ; 5,, .1 4
849) — +y +—xy" + 1 =xXCy° + 4=y + 2=
) 3 Xy -y 4y xy . y° - y? Y
850) 11053 + 1208y + atus® - utvt — 2Lty + g tunvt + 3 tiey
4 7 3 8 6 2

3 3 1 3 1
851) —x'y® -3=y* +2x*y} +2=y? + =yt + By? - —y*
)4 y 8y y 8y 7y y 2y

15 1 1 2 2
852) =x° —=xy® +2xy® + 1-x% - 5y° + 1=x° - 2=xy°
)Ty YL A 5"

1, 1 2 1
853) 2=x*+= x +4 x +1 x -2=x + 15X + =X
) 3 8 y Y Y- 4 3 y 2

2 3,,5 135 732 2 3 732 1 3

854) 3- - 2XY  +4_ XYy’ - 1—-XYy + Xy  + Xy -3
) 35 YT HAXCY — 1oXY T oy 4 oXy — 30Xy

5,5 44 22 3 145

855) X’y —;xy +2 xy +1 xy +4;xy+xy +€xy
5 3

856) 5omin® + 2% 4 on® + 25mn® + mn? + n® + mn?

8 8 8 4

1
857) 2a*-=a’b> +1 S a3 +32a% + 3 a2h + 2a% + 4185
3 8 7 4 6
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858) —uv® + 22 s 13208 + 2t 1 huas + 420
7 3 5 2 3 3

1 1 3 1 2 2
859) =y' + =Xyt + 1 X%yt -3yt + 1oxy + 1=yt - 2=
)3y Y LY m3y oy 1y - 20y

860) b+ 11020t + 122%02 + 150 - 8a2p + 2120t — 31
3 5 7 8 2

4 2 1 1
861) 7—b® +2ab* + 1=a°b® + 425507 - 32 ab? + 21a%° - 20°
5 7 6 2 4

3 1 3 1 1 3
862) —x%y? — 5=x* + =x*? - 8=x3yv* + 3=x%y? + 2=x%y? + x°y?
)8 y - 3 y 5 y p y p y y

1 2 3 1 3 2 6
863) —y° — =x°y* + 3=xy +22x°yP — 2=y + 2=y + 1oxy!
)7y 3 y 2 y > y 4y 3y - y

3., .1 5 ., 2 6 _5
864) 1-x%y2 — 1= + 4> —x%y? - Sx+— - 1>
R A A

1
865) x*y? - Z%X“y + 1%x“y2 + Ex“y +3xy® + 2%X4 + xy°

1, 3 3 .4, .3 4,.4 3 .3 3 2
866) 3=x% —1-xy® + 1—x% + 1oxy* + 1=xy° + 1>xy°® + 2x
) 3 4><y s 4><y 5><y 4><y

6 1 4 1
867) 12020 + Oasp® + 3300 - La5pe — 22y + 2 1p0 - Ladpe
5 7 4 4 7 3 2
1
868) 2x*y® — 2x3y? + 31x3y2 + 11x2y3 + ?ﬁx“y3 +=x%y3 + 41x2y3
8 6 4 5 7
5

2 2 1 4 3
869) —x’y® + 2x%y* + 1-x°y* - =Xy + =x> + 8x°y* - 2=x
) -xy y 19Xy Xy A y' -2,

1 3 1
870) 4§n3 +1=m’n*+=n° - Em"*n4 +n*+2n* - 6m*n*
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2 3 1 2 4 1 1
871) 1=x%y® - 32y +4=x%y* = 35y3 + 5=x%y% + 1=x*y - 1=x%y*
) Xy 27 3 y 5y Xy XYLy
872) 7Tm*n® - 3%mn + ngn + ng“n2 + 2§m2n +m*n? - 2mn
873) 23w-12v ratv ez ot s 1 tiav e et
8 7 4 8 3
1 3 4 2.,5 1 2.,5 1 2 4 3 1 2.5 1 3
874) 4—x°y+1—X +1—X +3—y " +3—Xy+1—X -—X
) YTy XY &) XY IoXY =oXy
1 1 2 5 1 3
875) x2y* + 4=x%y? + =xPy* + 15Xy + 4= yP + 12y — 1= ¢y
) X7y p y 3 y 3 y 6y 2y - y
5 3 3 5 1 3:,2 4 3 2 4 5 3:,2 1
876) 4—y - 2—-Xy+2 XYy - 1-y +1-_Xxy" +2—-Xy  + 3
) 6y s y+22Xy 2y 7xy 5 y Y
877) 11002 + Lo + 1205 — 22002 - 1105 + Sa%p® + 5La°
4 8 6 6 3 4 8
5 3,,2 3 5,,3 3 3 5 5 1 3,,2 3 3 4 5,,3
878) 3—x°y" - 1—Xxy°+4—X°y —— -1—Xx°yv*+1—Xx’y+3—Xx
) 3 y Y 3 y 7><y 5 y Xy 5 y
4
879) 22 1 s +32mn5 + a2 + 2Pz 411 - 11
7 7 7 7 3 73
2 1 3 1 3 1
880) 1=x°y? — 3=y? + 4=x%y? + 1=x%y? + 25 y? + 2x%y? — =x%y?
) Y &Y Y XY 27 y =Xy

2
=x°

1 4 4 1
881 _X5 4__X3 5+X3 5_1_X5 4_1_ 3+
)2 y moxy y -1y -0y o

3
4 4 23\5
y 5 y
1 2 1 1 4
882) 4=x° +2=x% + 13 3§x4y + =Xy + 1% +4=x"y
3 3 5 4 2 2 5
1 2 1 7 3 1
883) 2x%y° +3=xy” + 1=x%y% + x°y® + —xy° + 2=x%y% + 1=xy°
)yzxy XY XY XY 2T+ LXY
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884) 33 232 + 2308 —au 15082 + Zu+ 1102
4 4 5 8 7 3
2
885) 2a’b® +—a’b” + 138205 — 13305 - 22 a%h? + 41 a%? + 4L abs
7 8 5 5 8 2
1 3,,3 3 2 3,,3 1 1 3 7 2 3 3,,3
886) 1—-Xy  —1_-Xxy" + Xy =3 Xy+—Xy  +_—xy +1-X
) g Y TV XY S 3y F oyt oy Xy
1 3 1 1
887) 2m-=mn+—m>n®+1-m+ 12m +<m-2m
7 8 5 6 3
1 3 3 3 3 1
888) 3=x%y? — 7x*y? + 1=x%y? — —x*? = 533y + —x%y? + 1=x%?
) Xy Yo LAY XY = Sy XY+ 1O
1 1 1 1 3 3
889) —x% - 3=x2y* + 1=xy — 1=x% - 2=-xy* + —x2y* + 22
) 3 7 y 2xy 3 5 y 8 y
1 5
890) —m*n® + almn + 3300 4 22 + 32mn® + 3gm2n +=mn?
2 8 8 6 5
3 5 1
891) liu“v + ZUV4 + 4§u4v +-uwt-= + 31 - 21uv4
1 2
892) —u'v+ PN VRN L P VIR
5 3 8 4 3 4 4
1 2 2 2.4 1 2 1 2.4 2,2 S 2,2 2.4
893) 2—y - 1-XY '+ -y  —2—XY" + 22Xy +2—XY° —2X
) Y Ty oy 20Xy y +2.Xy y
4 5 3 1 2., 1
894) —y-2>xy+ 3 xy+5-y-15x%3 + 1y +
) YT 2y 3y 5y m 1oy Aoy Xy
1 1 2 2 1
895) 3—u*+=u?v+—-ud-1-u?v- 22yt + 180 1 Lyae
2 6 7 6 7 3

3 1 5 1 1 2
896) —x°y? +3=x*V + 1=x%y? —1=x° - 2=xY + xR + x°
)8 y Y Xy 3 XY XY
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1 3 = 1
8975—x G VA 1x +x -2=x%y°
) Sy 3 y® . y* - 3y y® y* - gy
1 2 3
898) 23m2n - mtn® + Zmen + 13m0 + Zmtn? + 15mtn® + SmPn
5 2 4 5 8 7
1 2.,5 4 6 2.,5 3 4 7 3 1 4 3 2.,5
899) 3— XY’ - X'yV+—=XVY - 1-XYy+—y  +3—Xy—-2—X
) g<Y y+ Xy -1 Xy +2y XY 2exXy
1, 4 , 1 5 1 1
900) —a’h® - 3—a’h* + =a’b* + —a’b? - 1-a’b + 2a’b® - —a’b*
5 7 5 6 4 4

3 1
21u2v -3= 3 1= 3 ulv® - —ulv + 5l - 11 + 2§u2v +=uAV°
12 7 11 2 6 4 2

5 5 5 5 5

4 6 3 4 1 1 1
903) [1—=xy* —1—=x°| - |1—=—xy* - 1=x3y* + 5—x3 +—x3y+6=x°
) (159 7)(11Xy ARRET IR 5y12y

5 2
1
904) L a2h+52ap%) - 3a3+31a4b2+51ab4 _{2a%p? + 21 ab® - 11a%
2 5 11 5 2 8
S 2.4 1 5 1 2 1 2 1 3 1 2 2 2 2.4
905) [1—-xY -1—X|—-[1-x"+4—-y - 1—X| - |1 X" -3y ——=X
)( 6 y 3 ) (3 6y 11 2 y 3 y
1 1 3 2 5 1
906) [12x°y + 1=x%y?| - [=x%y* - =x°y - 3=x 12 x 1=x%y2 +1=%°
)(ysy)(6y4y5y y6y Y
6 1 5 5 4 8 1 6
907) (=x* +6=x°y°| - [5-=x* - 2=x%y® - =%y | - [ =Xy - 4=x%y® + =x*
)(7 8 y) (12 8 y 5 y 9 y 3 y 7
5 1 5 3,,2 5 5
908) (uv _ZV) (6uv +5—v —uv) (l—v +1-uv’ -1 uv)
909) (1%x2y5—1—xy5)—(2xy5+6 x3y? -1 xy) (126xy Y 2x)
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910) (1% - 1—a5b) ( b+ 2= b5) - (2 +=a’b+—a’b )
3 4 2 4 4 2 3,5
911) ZX+5 X7y X’y vyt +6=x| - [2=x* + 2=x%y* + 3y
912) 12 mn2 + 2080 | - (12mn5 - 2m - 12m2n2) - (22 men® + 22m - m2n?
8 5 3 7 7
3
913) 3-Lab® + 28| - [a® + 31a%h + 112%%) - (124 + 5—-a%h - 1-1a%"
10 4 2 3 10 3
1 2 1 7 7 1
914) [4=xy° +1-x3| - [2—x*y* + °l-{1—x%* +5—x° +6=y°
)(sy 3 (9y6y Xy 1177 "9 57
2 1 6
915) (=a*b® + 1L a2b| - [Lan® -2 a2 - 9ab5| - ab4 +9a’b — —a p°
3 9 5 11 3 3

916) %xzy“—l?’x) (3 xy* -1 2x) (1 g x3+%x3y2)
917) Cf.lxyg‘—\?.lxsy4 3y4 12 Xy +3=y| - 12y +—xy® + 4—
2 6 2 3 12 12
918) O o1t (42— 1l —as) - (330 - 220avs - 122
11 4 8 3

1 2.,5 5 5 5 5 5 1 2.,5
920) |2—Xxy’ + -1 = —2—x +2 - -y +X
) 5 y xy) (12y 0 y® +2xy Xy> -y 5 y

921) |1—x +6— 5—x* 1— 2—X 2—X + X
)6y 8Y)( yly y)(lzylly y

mn — m?n*| - En5 + 4§mn - 1£m2n4 - 11mn + 5§m2n4 + 5§n5
7 4 5 5 9 5
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m°n° + 1§m5 - 11m5n5 + 4im5 + Zlmn3 —~ 6Zm5 —lmn3 + 1im5n5
5 6 10 2 9 11

8

1 7
931) (12a’b® + 53a202| - [4-Lath® + Za%® - 1-2a%h?| - [La%h® - 22 a?h? - 1-ath?
5 10 5 11 9 12 6

10 10 2

1
932) 6%x3y+4—y2 —(6 9 y* _32 x y— 1lly) (—x3y+4§y2—11y4)

7 4 4. .4 2.5 2 4 7

—Y' |- (4 =X 3—XYy +— XYy +7Xy +4

12y) ( 12 y y 3y 3 y y y

10 , 134 2 8 5 2 5.2 (3 4
+6 X 6 +4—x“ +3—=X 1—x°y° —— 1

11 ) ( y 9 y 9 4 9xy 4xy
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5 1 3
11u5v - 8Zuv —(Zuv+ 1§u5v + =udvo| - 4§u3v5 -—udv- 31uv
2 3 7 3 4 6 11 5

10 5:,3 5.,5 5 5.,3 5 1 5.,5 3 5.,5 3 5 9 5.,3
5—x°y” + 12X - 14—=xy° = 5x° ——X =Xy’ -1—Xx"——X
y y 7 y 2 y 4 y 4 10 y

5
940) (=x*+1=x|- 1—y4—31x5y3 X 11y4 1=x% +—x°y°
6 4 4
1
941) 1lx5y4+6 xy*| = [6=xy* + 6=xy? = =x3y° | - [1=5x%y° + xy“+41x5’y4
10 6 2 6
2 4
942) 6=mn? + 1=mn| — [2mPn® + 221 - ZmPn?| - A en + 72mn? - 23 mPn?
6 2 11 5 5 7 7
7 1
943) 122 18] - (et + Levs - Lund) - (630avt + 920 — 1153
7 4 9 10 5 7 2
1 1 4 1 1 11 5
944) (4=x%°? +=y| - [12=x'y - =x*y* - 3=yl - [y - 2=x'y - 9=x%?
)(3y4y)(5y4y Y| Y2 XY T 9xY
1
945) 13 ab® + 2ab) - (11a° + Tab - 4ab?| - [12ab + 52ab° + 4288
11 5 2 3 7 8
S 3,4 2 3 7 2 1 5 S 3,4 4 2 3 1 2
946) (125" - 25xy3| - [=xy? + =xy® - 32x%y*| - [Sxy? + 2xy® — 1-—-x
)(6y 3xy)(9xy PR AP Al Bl P A A s
2 7 5 1 3 3
947) (2x%° — =x| - |=x%y° + =xy® - 9=y°| - [1=x%y° - dx - —xy®
)(ys)(9y8xy gV Xy el
2 6 7
948) [m*n-=m*n°| - Omtn? + 1-Lmtns = Lrn| = (12mtn2 + 13mtns - 21
3 7 1 9 4 5 6
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6 1
950 6X5 4+ X4 2 4_ 4_X5 2_1_ 4.2 _ - 4
) y y Xy y 1Y\ 107 Y
2 1
951) 1 08+ alp)-(120- 120 -3 1) - (2168 + 2 + 1p2
11 10 2 10 11 6 9 2

1 4 1 5 3 7
- 2X°y| = |52xy? + = + =Xy - [42X%Y? - 1ox+ 1—
y) (3xy 9 4 y) (6 AT

3 2
Xyt - —X4y4) - (4gx4y4 + 1%x2y3 + S%yz) - (9x2y3 + 3.1—52x2y4 - 1gx4y4)

2= u+ 51u5v3 -~ ?ﬁusv3 - G}iu“v5 - lgu - 11u + 1§uv4 + lﬂu“v5
3 9 10 9 2 7 5

_ 522

5 4
957) 32mn5 — 4mn| - [2mn + 5omenS + 52mPnd)| - (13m0 + men® - Zmen®
6 6 8 9 4 5
- 1232 - [adve 12028 1 138
12 6 3 4

11 8
2 2 1 3 1 7 2
960) (=X +6=| - [2-=x’y’ + =y +5—| - [2——=x%y® + 4=y® - 10x°y°
)(9 y 3) ( y y o y 2y y
4 1 5 1 3 7
961) |2—x%y? + 5=x*V?| - [2y°® — 11x3 - 2=x%y?| - |6=X*Y? + 5=x%y? + —xy°
)( s y - y y 9 y 3 y c y 9xy
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2 3 1 5.,3 1 5,3 4 2 1 3 5 7 5.,3 1 2
962) [1=xy® — 3=x%y3] — [2=x%y® + 4—=y? + 5=xy®| - [y + 6—Xx%y® + =
) 3><y 5 y) (2 y 5y 2><y 9y 10 y 2y

4 1 1 4 2
964) 5253 + x| - (3258 + =x%y? - 12xy? | - [=x3 + =xPy? + =Xy
3 7 7 9 5 5 9

1
966) 13m2n® - 120 0] - (Lm2n® + 2mnt + 120) - [12m20% - 12t + 120
8 9 2 3 6 11 9

u'v - 3v°| - 1£u5v + 50ty + 4§v5 - 4lv5 + 6lu4v + 2§u5v
4 9 10 12 9

5 5
968) (—u*v® - 1A - SEuv3 F8utv - 110%) - (o + 1-Suh2 + 24
8 8 5 2 11 6

1 2 2 5 6 1 2 4
969 _X3 3 += 41 _ 5= 3 + = 4 2_X3 3] _ 1= 4 _X3 3 _ 1_X4 5
) (Y 7y) (3Xy Y T 57 "37Y Tt

970) 6205 + 22502 | - (115 + 7a%b® - 2--a%02| - (370° - 11a%2 - 11a%
7 8 11 8 6 6

1 1
971) 2 menz —3tmint) - (1 ment - 2L men + 2ien?) - (Lmzn2 + 2mn + 13men
6 6 2 12 2 2 4

1 1 1 1 5 1 1
974) |5=x%y® + v*| - [6=xy* + 2=y? + 5=x3V3| - [12y? + 4=xy* + 2=y*
)(gy y) (Bxy 4y 2y 6y 4xy 4y
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3 1 1 7
975) |1—x*y* - 2=x3y| - [10x*y* - 9=x%y + 5—x 4= x2 +1 x +
)(my 2y)(y6y11y y yZ + xy°
976) 52 5t + 62uav2] - (1200 + U2 + 08 — (1305 — outvt + 6202
11 7 7 5 3

2 5
977) 520+ 12men2| - [2mn® = Zm+ 2men2| - [amen? + 3-"Lm+ 12mn?
5 9 3 6 10 5

1 2 5 5, 2
981) [1—y+ X 10=x*+3=y+2>x 4=x4 +1 — x4
) 3y y) ( > 9y 3 y) ( 11 y* 3y)

6
43 324 153 113 524 353 322 3
982) [1—xy+6—-x - 11Xy +5—Xy+—X ==X’y +4-Xy" — X
)11y8y)(2y TR e Y
983) 22 + 64053 - (512 — 22083 — 122 — [uev? — 3udve — 122
5 2 10 4 6

2 11 5 5 3 2
984) [4=x%y? - 3==x3y°| - [x3y? —x =353 = [4=x5y? — 1= x3Y° + =x3y?
) Y <Y y y® gy g*Y o<y XY

985) 51a+3-a%5| - [ an? + 61a%h* - 12a ab2 L bt +51a
6 10 9 3 2 4

4 1 5 5 4 5
986) [=x%y — =x°y°| — [=x%y + 5=x%y + 1—x°Vy° | — [5=x?y + x*y° + 2x*
)(5y4y)(7y7y5y g YT Xy y

1 3
987) (y"’ - —x?%y ) (5 x2y° + 141 y*+ §x4y) - (5x4y - 1gx2y5 - 1£y4)
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3 7
988) (11m?n® - 222 = [P - Litn2 + 50 m2ne)| - [m2n® + 12m2 — 23 min?
11 4 10 9 7 5
8
989) (§n3 + 2—m4n4) (2 n®+1—m*n+3 1 m4n4) (—n3 -m*n+ 2m4n4)

2% +3=udV3 - 1uv2 + 5£u3v3 + iu2v3 —~ SEUZV3 + 3§uv2 —~ 1gu3v3
4 6 10 5 9 3

6 5,,5 1 2 / 5 1 5 1 5.,5 2 5,,2
994 —15=Xy° +4—xy° + 3—Xy| — | =Xy — =Xy’ - 1=X
) ( XY AT+ 3 XY | XY Xy 10Xy
7 5 8 1 3 3 2
995) (—a’b? -5a°|-[1-a® -—a’b® +6=-a°b®| - |1-a’b*-1-a° - 1=ab®
11 9 11 9 5 7 3
4 3
996) 112 o] - (A s aBu-2l2) - By etvs + 3t
2 5 4 9 5 2 2
1 8
997) 130+ 2nn| - (12m505 + 22mnt + 430n| - [11men - St - 180
4 5 7 9 7 8 9 9
4 3,4 2 3 S 3,4 11 2 10 3 4 3.4 1 2 3
998) [4=XY ' +1—X7|—|=XY +4—XY——XY|—|4=XYy" + 5—X°y + 6X
)(5y 3)(6y 127 T 57 ) TORXYTRNY

1 1 1 3 2 1 7
999) (2 + 4Ex2y3) - (1— +5—x% - —x2y3) - (1;x5y4 + =y + —x4y)

3 10 4 2 12

1000) (1éx3y3 - 1ﬂx4y) - (1§x2y - lx“y - x4y5) - (4%X4y5 - llx"'y - 1x3y3)

9 6 10 2 2
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1 1
3§uv2 - liu“v3 - 3§u4v3 + 1§u5v5 - Wiy - ZEUVZ +=ulv+ 71u4v3
9 11 3 5 8 14 2 2
1 1 1 2
1002) |—x° - 1—x2y4) - (—3§y5 + 51—?;)x5 - Exzy“) - (1%x2y4 + 4%x3 - §y5)

2 7 6
1003) |=x——x*| + 10255 — 1150 4+ 324 + [<11x+ 3x%Y° + —Xx°
37 13 9 2 9 3 7

2 2,,5 2 2,,5 2,3 3,,3 2 2,,5
-1-x —-1-y" +14x -——X +12—X - 2y° +13x

1 9
1005) —1§x3y5 +234] - 3L x4 - Cf.ﬁx2 r1ix)+ XY+ —X+ 61iy?
9 5 13 11 2 1

1 3 2, ,4 3 7 2,4 5 1 5 1 2, ,4 3
=y + 8yt + [ Sxy® -yt - 15y + [Txy® + 1Ky - 1
107 y) ( Y TR Y 13 T Y
1 1
1008) |- =u*v® — =u?V3| + |- =uAv® - —utv® 22 8| - [-aLusys —iug‘ +6—u?®
2 2 8 10 14 10 2

7— + 61x3‘y5 o[ Exe -1ty 1x?’y5 o[ Exe 473y 5ix3y5
2 6 8 8 14

822
—X
11 y)

7 5 7 3 2,2 3 3 5 1 5 1 2
1012) [6-y° +—x3| + (45532 - 153 - 12y°| - [12y° - 1—xy? -
)( g’ " 10 ) ( Y75 Y ) TR

11 4
-—a’p* + 11a5 - 5§a3b4 -1=a®-—ab| - 4£a3b4 + 1ga"'b3 + Ziab
12 7 3 5 2 3 13
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1015) 2%a0° - 12a) - [-1taps + 5 3a%2 - 224 + (6 1a - Zabs °p*
9 14
1016) 11x4+—x5y x 3y? - 13 XCy* + —x%y| + RN +3 x y? + y*
4 7 10
1017) —lle’y5 +2x%y°| - [1=x%y ﬂy2 +13%y*] + [3—x°y° 2y° +—y?
5 9 1 11 11

1021) |7b* + 2 a258) + (7102 - 22 a5 1 11078 - (1107 + 21a%pR + &
2 3 13 3 13 8

4
1024) —o3t 142a5b5) ( i 2 +62a2b2 %a) + (Ga— 1§a5b5 +6%a2)

1 12 3 6 6
1025) [5x%y — 3=x3y3| - [1=2x%y? + = x5y + 11x%y| — [=xPy + 6x*y? — —x®y?
) y- y) (13 y E XY y|={7xY y 3%V

4 , 5 4 4 1 7 1 3
1026) [-1—=y* = =x*°| + [1=x%Y° + —xy* = 2=x%y*| - [-1=x%y* + =xty° —1=y*
)5y8y)(5y13xy Y gy Xy 1oy
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1027)

1028)

1029) (1—1x4y3 + 1Zy ) (6 xy? - 1/ x y° + X1y ) ( 1—x4y3 - ngg‘y5 + 71—54x4y5)

1032) —1§x3 + ngy“) + (—2x5y3 +12x3 - gxy"') - (—13xy4 123 1x5’y3)

12 2
7 4 4 1, 5 1 2, 7

1033) [6—y® —2—=x°y?| + [1=X°y? + 1=y + =y = [-1=xy? + =yt - —X3
) (%Y 5y)(7y g’ "6’ 177 73 T

7 3,,2 9 3,,2 9 3\ /4 / 3,,3 8 9 3
1-Xy" + 11Xy = [-1 XYy + Xy +—X —x +2 X3yt +—
8 Y Y ) ( 13 Y 10 Y 10 Y 11 Y 8 Y 10 <y

2 5 3
Ziv + 4Euv - 131uv + o+ =l +[-Sv-1= 1 u?v? 32\/5
1 7 5 6 3

1 3 4 5 11 2,,3 1 5 2,,2 5,4
XY+ T =XY [+ =X+ XY+ 6 XY | — [ Xy —2X7yT +2X
y 6 Y) ( 2*7g y 13 y 5 y y y

1 11
“m?n+=m°n| +[7m° - 1gm2n +3m°n*| - [-11m° - 21m3n4 - 2m?n
12 5 11

1039) 1a5‘b ~ 12050 - [11a%® + b - 21 a5b% + —laSb EPIESUAPRIR
5 8 2 6 2 14 12
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3
-Zudvt + ZEUZV + [BuPv* + 3£uv3 - 1Zu2v - —31uv 23u Sy 13u2v
4 13 12 3 11 4 5
1 3 3 7
1041) [2y° +3=x - [=y® +4=x = xCy3 | - (X - 23%y® + 2—
) ( y' +3, ) ( 07 T3 y y +2gy
1 2 7
x2y? - 1§x V3| - [-2x%y? + = x ye + 1 x Vo |+ [-2x3y? + =xPy® + —x%y®
4 5 8
1 4 2 1
1043) (—y"’ + 6§y2) + (—1?x5y3 + 7§x4y + gyz) + (12x5y3 - lgx"’y - 2)

553

2 7
1044) 1gu5v3 NI T PN V- S -6—
9 3 10 7 11 6

11u3v +6u5)
2
5= + x| - 2 + 75xy% + 65| - [15x4 - 32xyP + 2

7 1 ) ( 3 y) ( 127

2

1 1 1
1047) —Zgazbz - 2£a“b4) + (3 151 a*b* - 14ab5 + 2ab) (— Ea“b4 - gazb2 + 7§ab5)

1 2
1048) |=—mn-=m’n?| + 23 tmn+ 11men® - mPn®) + [-12mPnd + 1-=mPn® - S
6 13 6 12 12 5

2
1049) ( 3 X°y? +—x y ) ( 21—?;x y° — 2x%y? PE %) ) ( 3§x3y2 -y + xy3)
3 9 4

4§xy+—x —xy+ xy+1 xy xy +5 xy+ xy

3 3 4
1051) |=m*n+ 5 m 0| - (4B men + 12men® + 22| + (22 - 22 men® - 2 s

5 14 4 5 5 8
1052) (-1—v* - 21u3v2 + 5§u PPNV INY: 43u PV RELY.

1 10 5 12 5 13

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-81-



1 2.,2 9 5 1 2.,2 2 5 2 1 2 3 2.,2 7 5
1053) [1=x3y? + —Vy°| + [4=x3y? - 25y° + 12VP| - [- =y + 32x3y? — 1—
)(4 y 14y 5 y 5y y 3y c y 9y

10 3 1 4 4 3
1054) (2x2y2 + 12y3) = [2=Vy2 + 72x%Y* + 1533 | = | -1—xy + 5=x%y* = 2=x%y°
) (2x%y y)(lly Y 10Xy Y5 XY 20Ky

4 4 2
1055) |-8ab + 12 0% + (-2 a2b5 + Zab + —ath?| - [- 28205 - 22 a%h® + 2ab
11 11 5 11 11 14 5

1 7 1 1 1 3
1056) [—2x2y° + 3=x3y?| + [-2x® = 2—x3y? + 1=x?y°| + [5=x% + 3=x3y? + 6=x%y°
) y 5 y 5 y ) y 3 5 y - y

4 1
1057) 21202 4 7202 | - [itn? + 2L ment - Lnen2| - 5§n2 —mtn? + 1 men
8 5 13 8 3 4 2

—1§u4v3 + 1iv + 4§v2 + 7EV + 7§u5’v5 + —3EU4V3 + 42\,5 +—v
7 11 4 3 5 12 10 11

1 1 6 2 4 2
1060) (—x°y® +2x°y%) = [12y? + 1-—xX°y° = 1—x°y?| + |[=x%y* + 1=y + 4=x%y°
) (—Cy y?) SV 1Y =1y + (O 1oy + 45Xy

1061) (~xy* - ZZ) + (ixy“ - %y3 + 68) - (61—12 + G%y?’ - gxf’yz)

1 2 9
1+-—=x%?| - NP 10x%y? | - [12 + =x*y® + —x°
13 4 11 3 10

1 3 4 1
—m°n + m°n?| - [=m*n® + 1§m5n2 ——m°n®| +|[=m°n® - limf’n2 - 12m*n3
5 7 7 2 12

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-82-



4 1 1 9
1072) 6=mn + 122n] = (120 + Lrent - 12 mend) - (2 - Lient + 2
2 9 7 11 3 5 11

2

1078) (—xy - 1§x3y2) - (11x3y2 - 1%x4y2 + 6xy) + (—1£x2y - 3%xy + 23x3y2)

2 14 10
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4
7=a’b® + 41a +(2a°b + ga“b2 -~ 1§a2b + 2§a5b + Ea2b - —a*b?
6 11 4 8 7 7

=
wIinN

ud + llu“v3 + —2£u4v3 - ?ﬁuzv5 - lﬂu5 -~ —lu“v3 +1 3u2v + 61u5
4 11 9 12 2 5 2

4

1
1081) |-—m®n* + 5-2 1] 4 (7 m2n + 72n% + 62| + [—mfn’ + 52n% + 6—-m?n
14 14 14 8 8 10 3 10
9 24 8 5 325 .11 5 1 45 2 3 2.4
1 — Xy ==y | +[6-XyY -1—y —-1—X + + 1 x -3=X
( y y y 14y 13 y 1 x?y® y° 5 y

1—3a b+ 7a°b*| - [-13= ab4+ b2 L a’b| - 5a5b 1= b2+a5b4
6 5 9 6

15

+ 3£u4v + —11v2 + 7§v5 —~ 1ﬂu4v
10 13 A

3 4 3 1 7 13 6
5—xy* + 1—x| + [>x+ 7=xy* + —x%y° - =x+1—x%"
Y 7) (4 2 Y Xy 113

4L o212 + 41 ap) + (-13ab + 2a%b? - a*b®) - 1 tatps — 1tz +1-Lan
10 2 4 14 10

1 1 5 11 ,
1089) (—x%y — 2x*y) + [7=x*y - 2=x’y - 12 1—x*y+1—=x%y +
) (—xy y)(8y2yy 1yMyy

3 8 2 3 5,,5 7 4,,2 5 2 4,,2
1090) (-1—x+5— =X+ XY+ 11Xy |+ | X—< ——x
) ( 4 9xy) (8 Y 9 Y 11 xy Y

1 1 2 1 3 4 7
1091) [-1=x* +2x%y?| + [2=x%y + =3y = =x%V? | + [1=xy + 4—x3y — 1—x%y?
)(3 y)(2y7y3y 7><y y=15%Y

7
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1092) (‘ %X4 + 6%)/2) - (1—73)/2 + %x“y“ + 51—72y4) + (?y4 + 1%x“y4 + 4%y2)

2
1093) 12 s 1 12003 - [ 2une 11 e - 3 tu) + (720 - 1308 + 2L
13 5 11 10 6 7 13 8
2 1
1094) a1+ 120502 - [« 2082 + uavs — 2100 - (530t + 12025 + i
14 7 13 7 9 3 3

17 5 7 1 3
1095) (2y - 2xy®) - 2=y -3=-x*+1—y*| - [1-—=x*-1=y* - 1—
) (2y xy)(gy o 14y)(12 y y

5 7 1 2
1096) |2x°y — 12x4) - —x3y° - —x° = =x* - [-—x® -5x* - 11x3y5
3 14 10 6 11 2
8 1 1
1097) [—m?n® - 52 min?] + (-10m?n® - 2+ 2m*n*) - 12 - Lne L
13 5 9 6 6

2 3,,5 10 5,,3 3 3 1 5,,3 7 3,5 S 3,,5 1 5,,3 3
1=Xy’ +4—X°y° | +[3=X —2-Xy" + XY’ | - [4=Xy" + 3—-Xy" - 2X
5 Y 13 Y 7 6 Y 12 Y 6 Y 6 Y

1099) 2§a5b2—3§a3b2 + —1ia3b2+2a5b2—1iab3 -~ —2ab3+11a2b+13a3b
7 4 12 11 2 12
4 3 1 2 1 5
1100) [=x°y +3=| - [5=xy® + 11x%y3 — 1=x%y| = [2—=x?y® + 4x®y - 3=x2
) (9 y 5) ( 3xy y 9 y 14 y y 6

9 3,2 3 2,,5 6 2,,5 5 1 5 15 2,5 7 3,,2 7 5
1 =Xy =Xy’ | + | 7ToXY° + —xy° =1 XY = | XY =3 Xy +7—
y y y Xy y 16 y 13 y 19xy

1
2mn°® - 13im5n + 1Zm4n + 9imn3 + 1£m5n —[2m*n-=mn® + lgm5
10 8 13 17 3 5

1 13 2 2 2 2 2
1103) |1=u? + V2| + [—=u? + 1=u™V° + 122 + [=u?ve - —u? - 1=uV°
3 14 5 9 3 19 3
1104) |5—xy" —1-—X - |=X'y-—Xy +5—y|-[11 X'y+1—y+1-X
) 19 y 4 y 3 y 14 y 15 y 18 y 17 y 5 y
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1 2 1 14 16 ,
1105) (4=x° +3 x 4=x%y® - 1=xy - 1=x%°| - | —x x2y3 + 2—=x%y*
)(6y y)(6y 3xy5y 15y y? 1gy
1 4 4 8 6 8
1106) (16x% + =x2y°| = [1=x%y? — —x°y° + 7—x?| = [x® + 7—x%y? — 1—x%y°
)( 2y)(7y15y 19 17y 11y

1 1
1107) (2a*b® +b%) - 22 ap5 — Lo+ 83405 + [32a20° - 2ab® + 1024
20 3 20 11 4 6

9 2 3 1
a’b? + —a’b?| + 3ga3b2 +6— —8a°h?*| + = -9a%p? + 3—3a5’b4
19 10 15 8 20

6 , .5 & (3 , 1g .2 8 . 1
1109) |9-xy“ +1— —loxy -3=y’+1— 1 +2—y’-1—
) 7><y 8xy) (7xy 5y 5xy xy 9y 17><y
1 6 3 1 1 9 1
1110) [1=x2y* + 5—x*°| = [9—=x*V° + 4=xy® + 8—x?y*| - [2—xy® + 1=x*Y° + 2x%y*
) 9 y 13 y 16 y 4Xy 13 y 1oxy 8 y Y

3 3.5 3.3 5 2 2 4
1111) | 7—X°y° —— X 2—y+8— +1=Xy° +2XYy+ 7—
)4y xy)(ylsy 7y)(5y y5xy

7 2 8 3
w2y - 2200 - Lty Sv8 - St + [P e 1 it w1 B0y
4 10 17 8 11 19

2 2 3,,3 1 3 2 3 19 2 2 2 5 3,,3 4 3
1113) [15y? + 6—=x3y3| + [=x3y + =y + 1=y?| - [32y?2 + 5=x3y® - 1—
) 9y y) (2 y 3y 2oy 3y . y 17y

3 2,3 4 1 5 4 3 2
1114) |9—=xy° + X 1=x? +10 +—X 11—y + X" —=X
) 5 y ) ( y y 11 ) ( 13y 5
1 2
1115) |{2n® + 12mem3) + (1202 + 2m® - 1-2m2n?| + [2n? + 311 me - Zpge
3 15 19 11 20 5

3, .3, 14 a 1 4} (10, .5 4, .45
1116) (1-y" + 2 Xy|+ | Xy+ 1y + X' | = | =Y -1 X" +6=X
) 8y 13 y) (3 Y Y 17 11y 16 7 Y

5 1 5 11 3 7 5
1117) [y +3—x?| - [1=y+6—=x?> - 1—x3y*| + [2°y* + 1—y + 9—x3
)( y 1 ) ( y ) 19 y y 9y

12
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17 5 4 22 45 134,345 .9 5 1 34,8 45,.3 5
1118) [2—Xx°y" + 3—X 11Xy +—Xy - 1— +|1—XxX°y" +7—X +1—
) ( 18 y 3 y 5 y 16 y 19y 11 y 15 y 4y

4 5 3 1
1119) |=u®v® +—uv?| + 82 - Sutvd - 33055 - (10305 - 22 + 7200
5 7 8 5 13 7 2 3
5
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8 4 42 49 14 38 18

1 5 1 1 4
1284) |=u* + —ucv°| + 11y + 1455053 + 2055 | + [Fu5ve + 270y — -yt
2 14 35 42 4 7 43

20 5 33 13 11
1285) |—x2y + 21— 24—y® - —x%y+ 25— 13=="xy+1—=x3 -y
) y y)( y17y 50)(243’15y

1 2 3 19 5 21 11
1286) |15—X -y + 1—X4 5 + 1—X4 2 _ 7\ 2) - 19—)(4 2 _ 1— 2 + _X4 S
) ( 42 Y 2 Y ) ( 19 Y 4 Y 25 Y 21 Y 37 y 18 Y
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3 b - 13a%p?| + 31 ad+1— 10 a’b - 16a°b?| + 31a3b2 + 4@a2b - 1§a3
42 21 40 41

2 10
Ex2y2 ~ 2y + (152 + 1Ex5y + 9§x2y2 - [=x%y - 1375+ 23lx2y2
32 3 32 37 7 a7 31 18

—Oa4 - 2a°b°| + 1la3b5 + 16§a5b5 + 11a4 + 25£a5b5 -~ 1ia3b5 -~ 3£a2b4
23 36 3 30 16 25

10 4 2 o\ _ (737 14, 7 23 32,
=xy® - 2 %y +8x'y + 107
) ( xy® y 17 y) ( xy® x'y® 297

15 3
X3 + ZZEXSy 18358 — 1 x4 - =x3y| + [ =xy® + 71—9x3y PN
47 2 12 16 4 30 19

AR

345

11 5 7 4.5 15 3 23 5:,3 1 4.5 5 3 5:,3
15—x° +—X -1 —x"y’ + 19— +1—X +|—X"y° + 16— — 45X
30 y) ( 38 y Y 32 y 6 y 6Xy y

20 16

13.1—3u4 - 1Z 18 + 15ﬁu4 + 12gu3v5 +(35+ lu3v5 + 1u5v5
29 9 43 39 25 6

—m’n? - 1im3n4 + 103m3n4 + 25§m4n + 113m2n2 —~ Zlgmn5 + SEm“n5 + 1£m
19 10 9 22 5 40 15

12 21 1 3
+7 =X+ 6==y°| +[19=y® + 7—xX° + 26xy°
47 25y) ( 8y 34 ad

4

1, 23
1297) 5 o 23%x3y2) + (16§xy2 + 17ﬂy2 - —x3y2) + ( 10 x3y* + 18£y2 + 163)

1299)

9

T8

48 40 23 23 13

24— 3 x —XYy +1— + 1=y + 11°—x%Y? + 6=x
36 y ) ( xyr y 20 9 y 40 y 5

10 21

a b4+728 a’b?| +(23== b5+1320 a’b* - a®b* 22£b5—11—6a3b4+£a5b4
34 33 28 29 15
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1 35 10 7 23 11 23
1300) (27—x°y° + 4=xy°| - |[—=x*y? + 9—x3y® — 1 ="xy° | + [33x%y°® + 4==x3y® + 22="x%y?
) 10 y 4sxy) (13 y 29 y 42Xy y 25 y 24 y
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Polynomials - Simplify 8 monomials and fractions with 2 variables:

Simplifying monomials and fractions with two variables:

1 2 3 1 4 13 1 19
D SxA3+52 + 2 + 1233 + V2 + 2 — XA — 202 223 2 2P
) 2 Y 3 7 Y 7y Y Y 7 14 / 7 21

1 1 4 1 5
2) 2m?n® = =m+m’n® + =m- 532 +m+ 2+ it 3inend - 4222+ 2m
7 5 8 35 6

1 3 1 4
3) 22 +2+-xy* -1 -1 +3ox° - 1= =X 4—xS-1—
) 25 27 2 57 5 207 40

2.3

1
4) 1= liiteoalia o o1t 12 a3 at2a’ -6
55 2 4 8 4 10 56

1 2 4 1 1 27 11
5) 1= +5m’n? + =m?n? + —m?n® 23 + 13m n2+1-m’n®*+2=  1-m’n®+7m’n?+1—
3 5 7 8 5 5 2 35 24

5 1 2 1
6) 1gu2v2 + 71uv + 1£u2v2 + 11uv - ZEu3 +-utv? - U + 41uv 32922 _ 233 1131y
3 3 7 2 5 7 5 3 21 5 6

1, 33 b5 9 , 3, .1
7 1 +1 x +2 —1 x x +1 X3 +2 -1=x? X —— +4—yX+1—y -1
) y y xy y- 3 % 3 a xy > y 14y>< 20y 4y 5

1 2 1 1 41
8) 1ty 12ty ot c it e e a2 -2 281tz stz s ay
7 3 3 8 3 6 3 24 3 42

1 13

1 2 1
S, a’b? 33+15a+ “a-1= ab3 b 1§ab3+—a2b2 b+2=-a-5—
5 6 3 4 3 2 30

9)3 Laps-12
6
4 1 1 1 3 1 1 3 3, .13

10) 23 + 1=xy + 4= + 22Xy + 25Xy + — X2y + 2=X° + B6=xy° 8 +8=x3 +2 x +2

) 5xy 5 ) y 5><y 3 y p 2><y xy p y xy

1, 1 4 1, 4, 2 5
1 +x+7x+1 +1x+x+1x +1=x° 1x
)8 % 3 y y Xy 5 s 3 a 3 y

1 53.5 3 5 1
12) =xy® - 3=y + =x%y? —=xy® - 2=y + 2= = = = =
) 3 6’ 877 57 gl TV Ty 2 60 8 168
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1
13) —y3+8x2y2+3y3+4§x2y2—3§x3y2+x3y2+11x2y2+11y3 22 yx +13 yx +4 y
3 7 3 2 5
7 1 1 1 1 1 1 7 7
14) —x+6x7y? + =xy® + 1=y + 2%y + x+ Sy —4=x%y  6x7y -2y + oxyt + 1 ox+ 1—
) 3 y Xy Iy Xy oY AgxY y -2y oxytHlox+ 1oy

7 1
15) 12ustnz 13wz atu-23ev st c12as e 120 a2 a2 759,
8 8 7 2 4 3 3 3 12 168 24

16 +1=-x°+ 1~ +=X"+1-y '+ 1y + X" 3y +2-x"-1_
) 1 y 2 y y 5 4y 4y 2 Zy 5 Zy
17) 1m2n3 - 1n2 +3202 +Em2n3 —ln3 + 1mzn3 + 3n3 ratne 1 Heey 1n3 PR
8 2 8 6 8 2 8 3 24 4

1 1 5 1
18) 1=mn®+1=m’n®+ 13m0 4 2mPn® + 2mPn? + BMPn® - —mn + 1omPn? 40 £ 52203 + 3=’ -
2 7 5 6 2 3 21 6 10

2 1
19) 2uv + 1=u?v? + =ulv - 2u?Ve + 1§uv P IPLIVEE Y NN PN VI EN WP
3 2 4 3 6 3 3 3 3 4

2 3 2 1, 3 1, 1 11 5
20) =x3y° —x+ += x +3=x%y + 4= x + 4=x3 5=x%y° + 3—x° +5—x
)3 y - xy xy y+3-Xy+47 > y® 5 y® YTy FS

1 5 1 3 1.2 2 25 1 2 5
21) 1=xy° + 32Xy + 1ox%y +4xy® = 3x+ =X+ —Xy? + Xy°  6xy’ + 5 X’y + —xy® —2—X
A A AL A 28”7 7307 Y3 7%

5
22)113+23+11 Sp3 1tz 4242432318 205 22 710
3 3776 60 40 T 8 3 60 8 o4

2
23) 4%xy - 3xy° + 1§x2 - 7§x2y - 3%xy3 + 4%x2 + ;xzy + 1%x2y3 1}x2y3 - 61xy3 - 7§x2y +61x2 + 4£xy

5 2 7 6 4
2,.3 5 1 1 .5 1 23 3 1
24) 3=X° +=xy* +7-2=xy* + =xX° + 3= -3=xX*+1=xy° - —xy - —x* + 10>
) 3N gy tX T TIFIY vy 4

25) 2a——a b+11a+26ab+2 3+ 11a+11a% + 2ab 313 3b+46ab+5a
6 2 7 2 2 21
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1 5 2,,3 1 2.,3 1 2 5 5 2.,3 1 2 7 5 2.,3 7 2
26) 3—X+2—XVY  +—XY —2—XVY+1—X+1=XVY +—XVY+3—X 4—X - 1—Xy + 9Xx
) 2 6 y 6 y 8 y 8 7 y 4 y 8 7 y 8 y
23

2 2 1
27) = -m’n? +=m°n? + 2t omze13 22wzt 2l c 13 m2 162
3 3 2 5 °8 4 24 4 30

17 5,

1 2 3 3 2 2,,3 1 3 3 3 1 2,,3 1 3 2 2 29 3 13 3 1 2
28) 4—y = 1-y +3= XY +3—y -2 Xy +—_ XY -1l Xy +1_X° 3__yX -3 __yXx+l__y +4—y +
) 44y 5y 5 Y 4y 8Xy 6 Y 7xy 3 30y 56y 20y 4y

4

4 5 3 3., 1 3 13 3 3 3 1
29) —x? - 2x°y +1=x%y% -3 +2= x -2=x-1=x° 4—=x3y° - 3=x3y - 2=xy® - 2=x? - 2=x
)7 y 7 y Xy Y 2 7 y 28 y 7Y 7 2

5 4 1 3 5 4 2 13 4
30) =XYP+2+1-+4-y + XY + 2y + 32Xy - 3—y® 5y + 2%y + P 43—
)6 Y 7 2y 7 Y Y 6 Y 7y 21 Y / 14y 7

1 1
31) 1134 31x3y2 +=x3 + ’B)gx‘%y2 -= +5+ 31x3y2 - 2x%y 9§x3y2 - 2x%y + e
7 6 5 3 2 8 24 35 2

2 2 15
32) 2uv? - ZEuv3 +—uv? — 11u2v +Vv3 + 1§uv3 +=v3 - 31u2v -—VPu+ 1gv3 + ZEvzu YRV
7 3 2 4 3 5 28 3 3 10

5 6 3 3 2 1 1 6 1 13 37 6
33) =Xy -3oxy+3oxy +2ox3 -y + Sy + 1% +3-y? Xy +3 X - ——xy+ 3=y
) 6 Y 7xy 5xy 7 3 Y 8Xy 2 7y 6 / 14 280Xy 7y
2 7 2 1 4 5 5 7 8 5 5
) XY -1+ xy -1y + = XY Xy -2y 1Y Ay Xy xy - 1
) 3 Yo 8 v 3y 4 5 Y 6 Y 7y 15 / 21y 6 ymy 8

3,,3 2

y3 +x 3,,3

4 7
35) 2%x3y3 +Ex2y2 + 11x2y2 - 1§y+ 1%x y? + 1%y+ 8x3y y X3 + 3 y X2 — Y

2

36) mn-— 12202 + 22 - mn? - 22mn + 32mn+ 2mn? — 1omen? —220mn? + i + 1-omn
6 6 7 4 60 42

3_56.2,,1 5. 4 alez 4L 613
37) 2= -3=xy?+3= ——xy? +— + —4-—x? -4 +6—
) 5 °77 "5 Xy’ Xy 7 7Xy Xy 21 y Xy 35
3 5 1. 5
38) 43b3 +2ps1ip—az— 2208 4 2a2p3 - 13a3b -~b “—b®*a®- 12bat + 150 a2 + 1-0b
3 4 4 5 7 3 8 7 3 15 8
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3 2 4 7 1 2 23 13 1
39 —X3 3—1—X3 2+—X3 2+1—X3 34 2+—X3—1—X3 3 42 L9333 2243\ 2 4 38 4 0\ 2
)4 y 3 y c y g y +y 5 3 y +y 4 y 15 y 5 y

27

1 332 3,3 132 13 33 7 532 3 1
40) 1=+ 32 + 23y + 33Xy + 25y + 12y - 1— + =x 2X +4 x +4
) - y y 5 y 4y 4y s'E y y? y> +4y° - .

1 1 27, 11
41) 22 _11p2 18032 - 2 e + 120+ Sath? — 12 + 11 b 81a%? - 2 0% - 1102 + 227 + 12
5 3 8 72 3 2% 8 3 28 15

1 2 5 17 13 2 3
42) 3=udV? + 1304422+ 33w -2 v+ a5 - 130 1 e85 43t
6 4 5 4 7 7 5 30 28 5 4

1 5 5 ,
43) 2a- 1Za3b2 + 1161%3 +=a-—a%b® +2a%b% - a 3pd +4= a3b2 “a*h+1= a2b3 +2— = a’b? +2 1a
8 2 2 6 3 3 6 6 24 2

-
2L ap® + 42,
28 6

2 2
44) —a’b-2a’b® + 31a2b - 116\b3 + 43a3b2 +—ab® - 1§a3b2 —~ 1§a2b3 -3= > a’bh® +2—= 9 a’b? -
3 2 4 7 7 6 7 7 42

3 53 3 7 3 3 1, 2 4 3,53 3 35 2 3 7
45) 2—xy° +4—xy+ 1— x+3 NG 1— x +=x’y-3 1=x3 2—X - 3—X°y +4xy+1—xy+ 1)
) 2 y? xy 3 XY y? XY =3y - 5 y? <Y 20~ y+ioy+1lg

4 4 1 1 1 4 1 19
46) 232 —2—y? + 1-x3e + 1oxyP + 1SV + 20V + Ty - 15y? 5y + 8-y — 2P
) 2X7y 7y 5 y ny 6y y® +7xy 2y 5y 2y 21y
5 1 4 5 1 2 1 1 3 1 5 24
47) =2 - =y + 3=y + 1-yP + 13y + 2%y —2=yP - 2%y 3y + 1y -y o - P
)8 6y 5y7y 3y ysy 2y 3y 10y6y8 35y

5 3 7 2 4 3 1 3 1 2 2 2 1 3 3 4 3 5 3 3 2
48) 3—Xy =1 X"+6-Xy+1_xy - 1-xX"+1_x"+1_Xxy —4X 2—Xy+6—-xy’ —1-X
) 6Xy 8 5 Y 2xy 6 3 2xy Y 5 y 6Xy

8
49) 1;x+1; S+ %x 12 3+4§xy3+1§x3—3%xy3—2x 12 xy ;gthzx
50) 110+ 1§u2v3 + %u + B%UZ - %uzv3 + %uzv3 - 7u® - Zéu 1;iu2v3 - 32u2 - ggu
51) §y3—1§x3y +24xy y +1;x3y3+1$x2y2+2§x3y3+4gy3 2115y3x3+42?;3y X2 4§5y

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-4-



2 7 4 1 1 1
52) 2 ment s Znemi consamt e Lt~ 2P — 2 atmendeaimeo1tin-2
4 3 8 5 8 5 3

5 3
2.2 3

53) 2x%y° - 32,3 +5X0 4+ 322 +32 + 25,3 - 32,2 23y° + 3143
6 8 8 6 7 37 5 8

7 1 3 1 3 1 1 17 1 3
54) —xy* = 2=y + 1oxy — 1ox%Y? + Xy + 1oxX3YP + 1oxPy + 4=y —y A + 25y + 1oy + 2
)8 Y m2oy Iy - 1oy A Xy HIOXY HIoX Y +ATy oY gV L yxE2y
7 1 2 11 1 2 5
55) 4—m°n? - 2mn + 22 = 13mPn? - 3men + 3mn - 34men+ 12m? 3 mPn? - 6mPn + 12mn? + 32mn
8 7 5 5 3 40 5 3 7

1 1 1 1 1 5 7 5
56) 1=V + 220y + 1§u3v2 —wAv+ 1w + =i+ 1S - a0+ 20V - v +—vAu+ 2w
3 7 4 5 4 2 2 6 10 7

5 1, 4, 3 3 3 , 4 3
57) xy+2y+1_xy-2y-_XYy+—-xy+2—y-1— —yxX + 1 —yx+2—
) Xy+2y 7xy y > y 5 y 8y 5><y loyx 35yx 8y
2 1 2 1 19
58) 1103 — 2%0° + Zb° - Za%h® + Zab+ 1b% + 1 1ah + 4§a3b3 32 1%® + 3= ba® +
2 3 3 7 8 4 4 12 28 24

1 1
59) 4m?n® + 11403 32 ome e o134 S 12?3 4 4
6 8 3 4 2 12 24

1 1 4 2 1 1 1 23 2 1 1 :
60) X°y* +3=xXY’ + Sxy + XY + 1oxYP + XY — 22y + 4Ty 3y 25y + ATy - 20y 4
) X7y 3 y ny . y 3 y 3 y 4y 2xy 28y 3y 2y 4y ,

£

1 3,3 S 2 1 3 3 2 2 3,,3 1 3,3 5 2 2 3 5 3,,3 1 3 23 2
61) 4—XYy + 2 Xy + 7T XY+ Xy - XY +4—XYy —_-Xxy*+1_-X T=XYy +9—-Xy+2—
) 4 y 6Xy 5 y 7xy 3 y 4 y 7xy 3 y 6 y 6 y Xy

42
1 2 1 3,2 2 3 1 3,2 4 2 3 3,,2 4 1 3,,2 2 2 7

62) 4_Xy* + Xy +2xy" —3—_X+ 1 XYy +4-_xy  —=3—XYy —-—x 2 Xy +1l—xy° -4—X
) 3xy 2 yorey 8 6 Y 5xy 4 Y 5 12 y 15Xy 40

532 533 532533 22132 133 2.,2 733 1132 2.,2
63) 3—x +4—X +2—X +—X + 2X +—X - 2—X + 2X 3—X + 6—X + 4x
)6y 6y 6y6y y4y 5y y 15y <Y y

1 2
64) atv-3tvew ezt e Zyartiale 227 B 024102
8 5 2 40 3 8
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1 4 4 3 1 27 1 7
65) st ot ase1fav st 2 3y 3ty
2 2 7 7 3 5 8 2 56 21 10

2 1 20 1 .
66) 22mn? - 33m2n® + 23 B0 - 2mn? — 22m2n® + 2 £ PN+ SmPn —6—mRn® + 3omPn + ormn? + =
3 8 5 6 7 7 24 5 21 7
1 1 1
67) 314302 — 2a%0% + Zab® + 3L a2b+ 3= + ah? + 204k - 71a%h  —2a%0° + 3oa%h? + 3—-ab® - 31a%h + ¢
8 2 8 8 4 5 8 8 10 4
3

7 1 1 1 1 15,1 5 45
68) 2—x*+1=x*+1-x* - 1=y° - 2§x2y +1-y° - 323 +15¢ 253+ —y® - 2>x’y + 5—x
8 2 2 6 6 4 8 7 8 12 6 56

2

2 4 5 6 1 1 11 44 27
69) 1=x3y? — xy + 1—x°y? — 3= x3 +4=xy +—xy — 33V + =x%y? xR 43— Xyl + 4
) 7 y =X 5 y - 7 y 8Xy 7Xy 4 y 3 y 28 y 105 y 56Xy

1
70) m n— 1102 + 202 + 2=2m2n — =mn® + 62 + 3§m2n ram®  2imn®+ 72+ 61
2 8 2 4 2 40 2

1 3:,2 2 3 3 5 3,,2 2 1 1 2 3 3 2
71) 1—Xx°y° —4x° +4— -1—Xx’y° — x -3—x°+ +5
) Y g 5* Y "X y? - > Xy 3 x%y? 8xy 10
21 4
72) 1303442 42 a3 + 42 4 420° + 820 - 62ab% —a?h® —a’h® -3 ab® +5b° +8-a+8
5 2 8 5 5 4 5 40 5 4 10

S 2 3 3,3 1 2 1 2,3 3,,3 3 3 3,3 3,2 2
73) 1—x 1—x +3 x 1-Xy’ +4—xYy+—xVy +1-XxYy +1 ——yX +5—yx°+3 +
)7y 6y y4y y+oxy y +17y 07 257 yX
1 11 7
74) 2tz ealpe ol 23nr 1t il csve el s tuvreettizeol
6 3 8 4 4 3 8 12 12 12
1 3 1 7 5 2 1 1 17 43 7
75) 3y* —2=x+4=y? + Sxy? + 3%y + 43P+ Sxy? - 15X 8y + —xy? + 7y - 3—X
) 3y 2 gl TV TPV TP TPV T Y TV T Y T
3 3 3 3 19
76) 2b+1—- ab+ ab 2— b+5ab+ ab—l b 2— ab 7 b —l—sb —1—24b
1 5, 1 1 5 .2 1 2 1 5 .23, 7
77) 4=xy® +=xy+1=xy° -3Sy-1+1-y-2=xy + 4= X — 1— 2—y-1
) SV Ty Fly =30y Sy T2y ALyt 90y YX=2 2y -

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
- 6-



4 2 S
78) e y e xy+—xy X +32x 2 2y +1(13xy X2

2 1 5
79) 2 e 2lmen+ Zmmd - 1 mn + 2mf + 420+ Am—Zmn® mn® + 6°mPn + 2P + 2-n + 4m
6 8 3 8 8 4 12 8 6
1, 7 5 .6 .2 , .6 , 2 . 3., 2, 5
80) 7y - 3=xy® + 1oxy® + 1oy — 15x2 + 22y - Txy? + 4=xy®  3yPx - 85yPx+ 11>
) 7y g TPy Hloy-loxy 2ty -yt Ay gV 3V 2y

7 3, 2 1, 4 3.1 1, 1, .4 1 4
8l) 3—y+ XY+ =X+ Xy +1oxy+3-x+-y-7-x 1y +1-xy-7-X 4 +4—X
) 8y S Y 3 2 Y 7xy 5 3y 4 loyx 7xy 4 y 15

1 3 1 2 1 7 2 31 3
82) 1=X°y? + 1oy + 4=y + =xXy? + 3=y + 2—y - 2X°y + 2=x°y° 2 + 44—y + 7=
)2y 7y 2y5y 8y 8y y 3y 56yx 30y 8y

83) 11ap2 + 120202 4 a2an? — 110 + 110202 + 2an? + 110202 - 2% 4L a%? - 314 + 8 an?
2 2 7 8 3 4 12 8" " °1a

84 +1— x +2 x 2 x + +— -1—X +2— +1
) xy y? y* - y? 8xy xy Y &Y 28 X%y o X2y 8xy
2 4 553 33 1, 1 1 3 S5 5 4 5 4 1, 17 3
85) —X+1-_XYy +Xy +4—y —1-_X+—X-_y+— 2-XYy +5y ——X-—
) 3 7 Y y 2y 5 4 7y 6y 7 y 3y 60 y

3
86) m+ 22432 i1 ime 3 o1t 1 2moomen? Sein? - amn? + 3 m+ 6
5 5 5 5 2 3 5 15 10

1 5 4 1, 1 3, 3 , .2 1 4 1
87) 1—x -5+4—xYy+2—X+1+3—xVy+4— +15x  1-x%y2 +8—x° +4 +4x -4
) 3 y 5 y 3 c y 4xy 3 y? 0 y xy

8
2 3,,3 1 2,3 1 2 4 2,3 1 3,3 2 2 7 29 2,3 2 2 1
88) 1-Xy =3 XYy +_- +2Xxy* -3 XYy +1-—-Xy +— 1—x° XY +2—-xy"+ 1
) 5 y 6 y 2 . 5 y 6 y 5xy 30 y 3 y 5xy 2
1 10
89) 1= L g a2n-m2 o+ e 2 -7 —6 o 4 20 - n2m— 25n
3 7 8 7 5 35 21 8

3

3 3 1 6
90) —b3 + 1§a3b3 +Zab® +=b® +=a’bd + 1161%3 +1-ab® + 21b3 3 b3 S4+2= b3a +3= b3
8 8 4 2 7 2 4 4 56 8

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-7-



1, 3.5 .1 s 1 2
+25x% 153y -1- +xy+25
3 g 7 " 6 77

2 1,1 1: 1 5,3 3., 41
91) 25y +4>x% + =xy - 37x° - 2= 1>x +2°7x
) 2y A3, YT g 7 42 7

1 1 1 11
92) atv oo+ 7w - 1R 12w s 2 - 1302 1152 A+ TR 2 AU - 1R 4 52
2 2 4 3 4 7 2 12 4 14

1 1 2 7 3,,3 2 1 2.,3 2 3:,3 31 3,,3 1 2.,3 1 2
93 —x x +8x%y% — 1=x%y — 1—X + 2X°y + —X -1—x -3—X + 8—Xx +1—X
) y-=x%y° a ) y 3 y y p y c y . y <Y 0 y

4 1 1 14 , 7
94) 3§y2 g 133 22 +1-x3 - 1=ox2+2y? 2+ 72 y +5—x2
77 5 5 3 2 15 10

1
95) 31m + 1§m3 r1ime o1 dmens - 5m + 12m + 3§m n®+=m 453m ’n® + 4§m3 ~1-"m
3 8 6 7 6 8 5 56 8 15

1 1 3 1 3 1 2 3 3 11 1
96) —x+=y*+x+1-yP +2-xy? +1°y* - 3=xy° - =xy® -3 Hloyt 2yl +1-x
) Xty S AR AR A P A 6xy y xy 2y c
1 1
97) 1gn+3m+6m+—+n+—m—21—31m2n 31m n+22n+91m 1E
3 3 8 4 2 2 3 8 12
1 2 1 2
98) u——uv3+7§uv+41+22uv3+— +5u-2u0v* —uwlP+7-uv+6U+5
3 7 3 5 3 15 7
3 53 , 4 2, 5,3 5, 5 3,3 20, 4 5
99) 4703 + Y2+ oxy =25y + xR+ Dy2 -3 42y 5oxAyP - Ty 42 xy -3
) SV Y Y2y XY Aoy 32y 5 YT Y2y = S
2 1 1
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